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.
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.
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4.

.
 3. a5:a5, (  0) 
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 2 .

.
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 1.  57:53  5.
. ,

57:53 ,  5,  53
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a) a4 a6 , ) x2 x4, ) yn y3, ) cn c.

,
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 =  =  =  = .
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:
) 23 25, ) ( 5)2 ( 5)3, ) · 5, ) 6 n.

9 , :
) a4, ) 5, ) , ) 7, ) 6.

: ) 32 34 35, )  4 42 43, ) 3 3 5 4.

n N : )  32 3n =310, ) 3 an = 7, ) 4 5 = n ?

7 :

)  210:23, ) , ) ( 5)7:( 5)5, ) 27: 12, x 0.

8

9

15, (  0), ,
: ) 25, ) 20 , ) 22.

: ) ( 6: 2) 3 , ) 6:( 2 3 ), )  ( 6: 3) 2.

10 :  a)  (  0), )  (  0, +4> ).

11

a) a2+b3                           , ) 3 2+3 1 .

: ) (2a)3, ) (3 b)4, ) .12

.2.2. ,

1 .   (ab)4

b.
, a 

,  (ab)4 : (ab)4=(ab (ab) (ab) (ab)=
(a a a a) (b b b b) = a4 b4. ,  (ab)n, (a, b Q, N ) :

(ab)n=(ab) (ab) (ab)... (ab)= (a a a...a) (b b b...b) = an bn

n n n
:

n- b
n- .
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2

3

: )   ( 6)2 ( 5)2, )  46 0,256, ) .

 ( ):

) , ) , ) .

 (1) :

.

: a) 24 54 = (2 5)4 = 104 = 10000, ) 85 0,1255 = (8 0,125)5 = 15 = 1.

2. .
, :

, a,b Q ,  b  0 N, :

.

: n- n-
.

: )  (2:3)4=24:34, ) .

, :

= ,   (b 0).

:

1 :
) (5 )3, )( 3 )4, ) ( )3=(( 1) )3, )  (5xy)4.

  (a=b  b=a), o  (ab)n =
an bn,

      an bn = (ab)n . (1)

:  (ab)5 =a5 b5, (xy)4 =x4 y4, (3 )3 = 33x3 = 27 3.
, :

.
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3. .
,  ( 4)5 :

                                        (a4)5 = 4 a4 a4 a4 4  = 4+4+4+4+4 = 5 4 = 20, . . (a4)5 = 20.
, , - ,

(am)n = mn.
:

4

5

 Ha :
)  184:34, )  ( 0,2)3:( 0,02)3, )  755:255.

: )  ( 3)2, )  ( 4)5, )  ( 2)4.

, . .
(am)n = mn ,    (a Q; , N).

: ) [( 2)3]2 = ( 2)3 2 = ( 2)6 = 64, )  (x3)n = x3n,  (n N).

6

8

9

7

: a) (5ab)3 , ) ( 2 )4, ) ( )5.

a :
)  24 54 0,014, )  ( 4)3 253, )  (0,25)5 25.

: ) , ) ) .

:
)  34 44, )  27 3, )  32 5b5, ) 1000 6b6.

10

11

12

:

) , ) , ) .

:
) ( 2)3,       ) 2 5, )  ( 4)5, ) 10 4, ) 6: 4.

 360 : ) 9,     6) 27, ) 81, ) 243.

: a) = , ) = , b 0 .

.
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1 :

)  62, )  (–7)2, )  ( 1 )2, ) , )  ( 0,8)2.

2  ( ) :

) 7 7, ) ( 3) ( 3), ) , ) 1 1, ) 0 0.

II. 3. 

II.3.1.
,

2, . .
= 2 , ( Q).

: ) 4 4 = 42, ) ( 5) ( 5) = ( 5)2.
2 : „ “, a2

.

. :

) , ) , ) ( 8)2, ) 02, )  ( 1)2.

. ) = = , ) , )  ( 8) ( 8)=64,

)  02 = 0 0 = 0, ) ( 1)2 = ( 1) ( 1) = 1. 
,

, :

,  0.

:
Q x2  0.

:
, .

3 :

x 2 –2 0 0,2 10 -0,01

x2
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4

5

6

, ?

: 9, 9, 1, 1, 10, 2.

: ) ( 3)2 ( 4)2, ) 5 ( 5)2+3, ) .

: ) , , , )
, , ?

.
:

) 1,    6) 4, ) 25, ) 9, ) 49?

7

8

II.3.2.
1 2= , (a 0).

:
.  = 81m2

( . 1). ?
.  ( )

, = x= 2

2=81. ,
 ( ),

2 = 81.

,  81.  9 9.
 92=81  ( 9)2=81. , 9 9

2 = 81.

2 = 81, . . =9. :
) 2=16 :  4 4,  42= 16  ( 4)2= 16.

. 1

x

x81 m2

) , ,

.

)  0 2 = 0,  02 = 0. 
:

2 = , a ,
, ,

. , , 2 = 0  0.
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1

2

: ) 2 = 36, ) , ) 2 = 1.

:
a) =8, ) =12,  ) = 30, ) =0,3.

 2  . 2 = , ( 0)

a, ( 0) , ( 0).

.
.

, , :

, 2 = , a
 ( ), ,

.
, 2 = 9

.

: a, (  > 0)
, (x 0), , . .

.

: ) = 4,  42=16  4>0, )  ,  = ,

) =0,  02=0.
 „ “ : „... ...“ „... ...“.

2=81  9 9.

: . , 2= 81 = = , . . 1=9
2= 9. , 2=81 = {9, 9}.

2= , ( 0) . . , (
 0)  . 

, 7  49, 7
 49, 7 < 0. 

3 :
 1°. :

 2°. b :

= .

.

: = 3,  = 7. 
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 3°. 3 0 b > 0 :
.

, = 10,  = 2 5 = 10. 

: , a .

3

4

5

: ) 2 =64, ) x2=1, ) 2=36.

:

) , ) ,     ) , ) , ) .

:

) ,     ) , ) , ) .

6

7

8

9

:

, :

) , ) + , ) , ) + .
:

) , ) , ) .

{2, 3,6,0, 4}

.

x 11 12 13 14 15 16 17 18 19 20 21
x 2

10

11

: a) , ( 0), ) , (x 0).

: ) , ) , ) .
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II.4.

.
 7. 

 22 < 7 < 32,   2 < < 3. ,
 (2,3). 

 (2, 3)  ( . 2) ,
a : 2; 2,1; 2,2; 2,3; 2,4;..., 3. 

 6,76=2,62 < 7 < 2,72=7,29.  2,6 < < 2,7.

. 2

2,1 2,2 2,3 2,4 2,5 2,6 2,7 2,8 2,9 3,13 x

,  (2,6; 2,7).
 (2,6; 2,7) : (2,6; 2,61], 

(2,61; 2,62], ...,(2,69; 2,7] : 2,61; 2,62; 

2,63; ...  2,642 < 7 < 2,652,  2,64 < < 2,65.

, (2,64;2,65).
Co  (2,64; 2,65) 

,

, . . 2,645 < <2,646.

.

,

 0,001 : 2,645 , 2,646 .

,
 2,646,  2,645 ( . 2). 

1 Co
:

a) , ) , B) , ) , ) , ) .

:
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2) .  ( . 3)  427 
(  4, 2, 7). 

 427 

20,663978.
.

1) .
 1  1000 .

 N ,
,  N . , ,

 427,  N 
 42 (42 ),  7 (7 ),

 42  7  20,66. 

427. , 20,66 .

:

. 3

,
, .

.

2

4

3

Co :

) , ) , ) , ) .

Co :

) ,     ) , ) , ) .

:

)  ,    ) , ) ,     ) ,
.

 ( ) : )  , )
, ) ? .

5

2, ( N) : ) , ) .  ( )
.

6
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II.5.  3 *

Bo
.

.
.

 ( )
:

.

 1. .
. :

 1. 
.

.
.

 2.  10,  10, 
.  3,  32=9 10.  3 

.
 3.  (32=) 9 

 (10) .
-  1.
 4.  (

)  49. 
 9,  14 

( )  (3 2=) 6  2. 
.

 5.  ( )  (  6) 
 (2)  (62)  (2) 

.  (149), 
-  25.

 6.  (76) .
 2576  6,  257 

 ( )  (32 2=) 64, 
. . 257:64 4.  4 .

7.  (4) 
 (32 2=) 64  644 

 (4); 
.

8.  (
). , .
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, .
,  = 324.

,
, ,

, .
, ,

, .

 2. .
. 2,

22 7 32.  8 ,
 48 8=384  345.

 7 (  8) 
,  3. 

: = 273.
 3. .
. =13,

.
,

,

.

.
, ,

. . ,
 2, 5, 8, 10 

 1; 0,1; 0,01; 
0,001 .

 3. 
0,01.

.  17 
.

,

,  0,01 .

 4.

 0,01.
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.

. Co 
,

.
.

,
 2,29 

0,01 .

1

3

4

5

6

2
?

:
) 360000, ) 291600, ) 1008016, ) 22500 .

:
) 13,69, ) 1,44, ) 0,49, ) 0,09.

 0,1:

) , )  , ) , ) .
 0,01: 

)  ,  ) .

:
) 841, ) 1936, ) 134689, ) 229441.

.

II.6.

 4 , =2 m2.
.

2 = 2.                         (1)
,  2 m2,. 4

P=2cm2

x

x
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?
 ( ) , ,  12=1<2<22=4.
? ,

, ( Z, q N). :

. .

. ,

 = ,      (2)

p q . , p q ,

.  (2) ,  2q2=p2. O p2=2q2

, . . =2k, (k N),  (2k)2=2q2,  4k2=2q2

2k2=q2. q2=2k2 q , . . q=2m,
(m N).

,  (2) p  q ,
p  q . ,

.  (2) ,

, , , . . Q.

,
.

 (1), 
 = .

.
, ( Z,

q N) .

: , , , .

 (384 322 . . . .).
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1

3

4

5

2

, :
) 8 cm2, ) 12 cm2, ) 20 cm2.

a :

) , ) , ) .
:

) 2 =11, ) 2=16. ?
: ) 2=8, ) 2 =9, ) y2 =14.

.

b (b 0) , :

) +b, ) –b, ) b, ) 2, ) ?

: ) , ) , )  0,001. 

7

6

II. 7. 

 1  :
- N={1,2,3,...}
- Z={.., 3, 2, 1,0,1,2,3,...}
- Q ={ p,q Z, q 0}.

a : N Z  Q .
, ,

, , ,... .
,

.

. + b , (b Q )
.

. a+ b ,

. + = b = , =

= :b,  (
, ), .

+ b ,
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 2   
 ( ),

, .

: = 0,5, = 0,25, = 0,6,  = 0,666... = 0(6); = 0,8333... = 0,8(3).

,
. ,

0,20200200020... .
.

:  3+ , 5+ , 2 , 7 , .
,

.
I,

Q I .

R. , : R= Q I Q I = .
, .

. ,
.

 3  .
, :

 = 0 ,a1a2a3...,   y=b0 , blb2b3...,     (1)
0 ,b0 , a a1,b1,a2 ,b2,a3,b3,... {0,1,2,3,4,5,6,7,8,9} - .

, ,
 9. ,  0,34999..., 
 0,35. :

1°. ,
, . . x=y a0=b0 a1=b1, a2=b2,a3=b3,...

2°. y  (1) :
- 0 < b0, < ,
- 0 = b0, 1 < b1,  < ,
- a0 = b0 , aI=b1,  a2 < b2 ,  < , .

:  5,31407261... < 5,31407467..., 
,  2 < 4.

, .
.

: 5,31407261... > 5,31408631...
,

,
.
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1

2

:
) N  Z, ) Q Z=Z, B) Q  Z=Q, ) R Q =Q, ) R I = Q?

,
: ) 1,41 , ) 1,5 .

3

4

5

6

7

: , , .

: ) 3,814243... 3,814235, ) 3,814243... .

 0  3 :
) , ) .

  0,1212212221... ( )
?

 2,5; 3,75;  1,5 q ;
.

II. 8. 

,
 ( . 5). ,

 ( . 5).
.

,  ja , .

-  [0,1]  ( . 5), 

.

: , , , , , .

. 5
 3  2  1 0 1 2 3 x

, .



.
53

r
. r (r). ,

.
,

, :
.

, . . a  b, 
(a< b), , (

) ( b).
:

? ,
, . . .

,
 ( ) :

(2; 3)  (2,6; 2,7)  (2,64; 2,65)  (2,645; 2,646)... : 1, , ,...

( . 2). 
Co

. :
Ha  ( )

, :
( ) .

A ( ) ( ) , A
, < .

1

2

3

4

Ha :

) , ) 4,25, ) , ) , ) .

:

( 2,45),  B( ), ( ),  D( 2 ) ( )?

: ) Q  R , ) I  R?

:  a) R Q , ) R I?
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1

2

:

)  63, )  (-6)3, ) 17, ) ( 1)7, ) , ) , ) 34, ) ( 7)2.

:
) ( 5)n 0, ) ( 5)n <0?

 -II

3

4

5

6

7

8

9

: a) 212 = 46 ,      6) 36 = 93?

:
a) 1+3=22, ) 1+3+5=32, ) 1+3+5+7=42, ) 1+3+5+7+9=52.

:
)  24 16, )  3n+1 27, ) n 2 .

N :
) 32 3n =310 , ) n 5 = 9 , ) 7 n = 11 ?

20 : a) a2, ) 5, ) 10 .

:
) (35)n =310, ) (5n)4=512, ) 5n 54=512?

 ( , ) :
) (2m)n = 26, ) 3m 3n = 81.

10

12

11

13

14

:

 a)     , ) , ) ?

 ( ):

 a) 2+3 2,5 , ) +2 3

{1,2,3,4,5} :
) 2n < 20, ) 10 < 10n < 1000, ) 0,0001<0,1n ?

: ) , ) ,
 ( ) 2?

:

a) , ) 2(3+ ) + +3.

1 :

) 212 , ) .

 - II

2 :

) 52 24, ) 52 ( 2)4, ) .
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3

5

6

7

8

4

9

:
) ( 3 2 b2)2, ) ( 1,5 5 b4)5, ) (2 )4.

.

K  1 m3?

:

 a) , ) .

:

) , ) a2 b2 a = 2 b = .

o :
) 107, )  (102)3, ) 103 105?

 1 mm ? 

10 ?

11

12

 ( ):  3 2 +4,5 .

: .
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III.1. .
III.1.1.
 12 4. , ,

. : ) 12 + ( 4)  12  4, ) 12   ( 4),
) 12  ( 4) ) 12 : ( 4).

.
: 1, 2, 5, 3, 

0,
5
3 ,

3
2 .

: +, , , :, 
.

: )  4 + 28 : 5, ) , ) .

,
, , ,

, .
:

)   4 + 28 : 5   9,6. : 4 + 28 : 5 = 4 + 5,6 = 9,6.
)  243. :

= (2  1)  3  3  3  3  3 = 243. 

) ,

. ,  15 : 3  5 = 0 .
.

, ,
.

1 :

)  30  5  6, )  0,2 : 5 + 5 : 0,2, ) .

 III

2 ,
:

) 8, ) 2, ) 0, ) 1, ) 0,1.
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3

5

6

7

8

4

:

) , ) , ) ?

, ,

: ) 2,18   2,19, ) 0,6  0,32, ) .

 2 , :
) 2, ) 3, ) 6, ) 8.

 1, 2, 3, 4 , 5, 6, 7, 8  9 ,
: ) 5, ) 13.

 1  2  5, 
 1  2 .

He , :

a) , )  25  5   25  ( 5).

III.1.2.

: 2k  2k 1, .
k . , k

, .
 ( ),

, ,
. ,  2k  2k 1 k ,

a  ( ) k . 
, , 2 1 ,  ( )

, . ,  ( )
 ( ) .

,
.
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.  = 4 = 4, 

 = 3 = 9. = 2 ,

,  2, .
,

2
3

a
a a = 2. 

D = {a a R,  2}.

,
.

 3 .
. , = 4, = 3 : 3  4  3 = 12  3  

= 9. , ,  = 3, = 3,  3  12. 
Co :  (4; 3) (

, )  3
 9;  (3, 3)  12.

  3 y D ={( , ) , R}.

.  ( : )

 ( , ) . ,
D ={( , ) , R, }.

.

.
.

, .
ABC, , .

, , ,
. , ABC, , .

, . ?

: ,
, .

:  a)  , ) 3 , ) .
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1

3

4

5

2

:
) 3 (  4)  { 2, 1,0,1,2}, ) 2  2 + 5 x { 3,0,3,5}.

:

: a2 2ab, :
a) a = 3, b = 2; )  = 2, b = 0; ) .

:

. { 2,

1,0,1,2}. ?
.

 2 0 2 3 5

 + 2  (  1)

( , ,)  2  2  +  2
(3,1)

(4, 2)
( 5, 1)
(2; 0,5)

?  2  2
?

6

7

8

9

:

a) , ) , ) , ) ?

:

a) , ) , ) , ) , ) .

, ap y

: ) , ) , ) .

:

 a)  , ) , ) , ) .
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10  3 3.

III.2. .
:

- , : 0; 1; 2; 3; ;...    (1) 
- : , , z, ..., ,b, , ... ,q,...       (2)

 (1)  (2) : „ “. ,

 x ;  3  a  b  b;       (3)

;  3  a  b  b ;

x3,  3ab2 , .

3 .
. , ,

, .

. , x + y y + x;  (x + y) + z
x + (y + z); x  (y + z) xy + xz , x + y = y + x,
(x + y) + z = x + (y + z), x  (y + z) = xy + xz

, .
 (1), (2)  (3) .

:

:  ( ),
 „ “.

, : 7; a; x; 5a2b3; ax3.

,  3, 

.

, 6a3b2 2 a a  3 a b b
6,

.
.
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1

2

:

a) 3x2  ( 4x), ) 2abc 7a, ) a2b 0,7ax.

, ?

,
, a - .

, 3 4b2 3,
4b2 .

ax2 = 1 ax2 – ax2 = ( 1) ax2,
ax2  1, a  –ax2 e 1. , , a 

.

, , .
, , ,

.
:  3 2 , –4 2 – 2 , :

a) 3ab2   3ab2, ) a2b3 a2b3 , ) – .

3

5

6

7

4

: ) ,
) .

,
 3 2: )  6 4y2, ) 2 3, )  4 5.

:
a) 4a2b, ) 3ab2, )  4 3, ) 2ax3, )  2 2b, )  5ax3.

:
) 2, ) 2 , ) 2, ) 3 2, ) 2 , ) 3 2.

:
)  3 b2  2a3, ) 5 3 , ) –a2b3, ) 3 .

III.3. . .

 1   ,  + 

. , : a + b; , 2 2  3 (  2 2  3

 2 3 + ( 3 )) .
 + .
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 2   A, ,  +  + 

. , a + 2b 3c, 2  2  + 5, 2  + 3 2 .

A,  +  + .

, :

: ,  ( , ,
) .

: ?
, ,  3 + 5  (

)  3 + 5  = (3 + 5)  = 8 , . . ,
. :

.

, ,
, ,  - , a
 - .

:

         4 3  3 4 + 2  + 2 5  +  + 6 + 5 4.                          (1)

, ,

. , - : 2 .

, :

         4 3  3 4 + 3 + 2 5  + 2 + 6 + 5 4.                              (2)

 (2) .
,  (2) :

4 3 + 3  3 4 + 5 4+ 2 2 5  +  + 6,

(4 + 1) 3 + ( 3 + 5) 4 + 2 +( 5 + 1)  + 6, (3)

5 3 + 2 4 2 2  4  + 6.
 (2) 

.
,  (3),  (1), 

.
. , ,
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1 :
) 3 3 4 2 + 2  + 5 2 + 4  + 7,
) 8ab2  b3  6 2 + 3a2b 3ab2 + 2b3 + 4a.

2

3
: 5 2;  3 2 ; 0,2 2; 2; 5; 4 2 ; 3 .
: a, b, , 4 , a2b, 3 , 5b, 7a2b, 2abc, .

4

5

6

7

8

:
a)  a a a a a 4a a a a + 5a a a  7a a a + 3a a + 2ab 6,

) 3 15 2  + 5,2  1, 
) 3  ( 2 )  4 2 2  + 8 3  3  + 5.

, ,
b . :

= 100a + l0b + c. Ha : 567 = 100  5 + 10  6 + 7. 
:    a) , ) , ) , ) .

:

)  2 2  3 + 7, )  + 2, ) .

:
) 3 2 + 2 + 5  = 10, ) 4ab2 + 3ab  a2 + 2b  = 2 b = 8.

: ( ) = 2 2 , ( ) =  (2 2 )
( ) = 2 2 + { 3, 2,0,1}, .

III.4.  HA  HA 

 1  
. ,  3 3b2 ,  3b2 3  3xb2a3.

. : 2 3 ,  7a4 ,
.

, , , , ,
. , , , , -

.

.
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.
,  7a2b , , a, b 

; a o  (2 + 3 + 1 = 6) . -
, , 2 , y,

.
1 -

:
) 3 ny3 , )  0,5a2bn , ) 4, )  6abc.

 2 , o
.

:

(
),

. . ,  7x4  3 3 +
4 2 + 5 ,

 3 4 2 3 2 + 2 2 3 5 3 + 4y2 + 2 
.

 ( . . ).
,  - .

,
,

. :
3  2 2 +  3 . , ,

3 4 2 2 + 5  1 ,
, a .

2

3

:
) 12 6, ) 9 5, ) 8 y4, ) 5, ) 15 2y3, ) 3a3b2c.

5 ,
.

, , : 8, 5, .

0, .  0 
.
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4

5

6

1

, :
    4 5,  9 3 4, 5 4, 3y3, y3?

:
a)  4 3 2 4 2 + 3 3  1, ) 6 3 5 2 4 + 3 2  + 1.

: 4 2 3 3 4 + 5 4 2 + 3y 2 5 + 4 4  1. 
:

) , ) , ) .

:

    a) ab, ab   7ab, )  5a2b, 3ab2, a2b2, 4ab, 6a   2b.

III.5.

 1.  , ,
- . ,

 3  7 : 3 + 7 = (3 + 7) = 10 .
 5  3 .

 5 + 3y. ,
, , , . ,  5  3

 5  + 3 , .
, ,

( ).
,  ( ) , .

 2
. , b,

a b, . . a  b = a + ( b).
, :

.

. ,
, . .

 = + ( ).
.  4x2y3 3x3y2.
. 4x2y3  ( 3x3y2) = 4x2y3 + 3x3y2.

2   9 2b : a) 3 2b, ) 2ab2.
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3 :
a) 4ab2, ab, 2a2b, 3ab, )  8a2b2, 3ab2,  4abc, 2ac2, 6a2c 7a2b2.

4

7

 3 2 : ) 5 2, )  4 2 , ) .

:
) ( ) = 3 2 + 2  5, ( ) =  ( 3 2 + 2  5) ( ) = 3 2  2 + 5 { 2, 1,0,3},

.

: )  2 2 , ) 7 2 .

:
a) 6ab2, ) 4ab . ?

5

6

1 :
a) 5 3  4 2 +  1, ) 7a + 2 2  5  + 9.

III.6. .

 1. 
. :

, :  +( ) = 0.
, : + ( ) = 0, . ,

, .
:

)  5 3  2 (5 3  2 ) = 5 3 + 2 ,
 (5 3  2 ) + ( 5 3 + 2 ) = 5 3  2  5 3 + 2 = 0. 

)  4 2 + 3  1,  (4 2 + 3  1) =
 4 2  3 + 1  (4 2 + 3  1) + ( 4 2  3 + 1) = 4 2 + 3  1  4 2 3  + 1 = 0.

2. , ,
, ,

, , , ,
„ “.

:
 I . ,

,
.

, :
(3 2 + 7  5) + ( 2 2 + 9) = 3 2 + 7  5  2 2 + 9 ( )
= 2 + 6 + 4.
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 II . ,
,

.

 III .  „+“, 
.

 IV .  „ “,
.

, = 3 2 + 5  1 
= ( 3 2 + 5  1) = 3 2  5 + 1. 

.
:

: 3  3 2 + 2  6 = ( 3  3 2) + (2  6).

: 3  2 2  + 2 = ( 3  2 2)  (  2). 

2

3

:
a)  (1 + 2 ) + ( 2 3 ), )  ( 2  + 5)  ( 2 +  + 7).

:
)  ( 2 2  + ) ( 3  + 2 4), ) ( 3 2 + 1) + (2 2  + 1).

4

9

5

7

:
)  5 2 (3 9) = 5, )  1  (2  3) = 8 6 , )  (7 + 2 ) (4 12) = 25.

:
) 2 + 4  + 1, ) 2 2 .

 1 2 + (1 + 3 2) (3 2 2)
.

:
) e  11, 
)  9. 

6

8

:
)  3,
)  4? 

= 2 3 + 3 2  + 5 .

10 :
) 2 + 6 2, ) 2 + 4 .
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III.7.
, ,

,
, .

,
.

:
 1. :

= 5 2 + 3 7  = 4 2 + 6 + 1.
. :

 + = (5 2 + 3 7) + ( 4 2 + 6 + 1). :
 +  = 5 2 + 3 7 4 2 + 6 + 1.

:
 +  = 2 + 9 6.

1 : 2 3 2 + 3 4   5 2 6  + 7  + 5.
 2.  = 4 4 + 5 3 3 2 + 1

 = 3 3 + 5 2 + 6.
. :

= (4 4 + 5 3 3 2 + 1)  ( 3 3 + 5 2 + 6).     (1)
,

= + ( ), . ,
(1) :

 = (4 4 + 5 3  3 2 + x  1) + [  ( 3 3 + 5 2 + 6)] = 
       = (4 4 + 5 3  3 2 +  1) + [+3 3  5 2 +  6] =
       = 4 4 + 5 3  3 2 +  1 + 3 3  5 2 +  6 = 
       = 4 4 + 8 3  8 2 + 2  7.

 (1) 
.

2 ,
= 7a 2  5 2  + 4  2 ,  = 5 2  4 2 +  + .

3

4

: = 4 2 + 3  1,  = 3 2  2 + 3  = 2  8. 
:  +  =  + ,  (  + ) + = + (  + ).

:
)  (2 2  3b2 + 4ab) + (3b2 2 ab + 3a b),
)  ( 3  2 2 + 3  1) + ( 4 2 + 1).



70

5 :
)  (4ab2  2 2b + ab)  (3a2b ab + 5a + l),
)  (6 5  4 4 + 2  1)  ( 4 + 3 3 + 2 + 1). 

:
) 3 2, ) 5, ) 3  a4 , )  ( 2)3.

:
a)  5ab2 (3a2b), ) 4 3  ( 2 2), ) 3abc  ( ac2).

6

7

1 :
a)  2x2  ( 3xy2), )  4  5 , )  6 2  ( 3 2 )  4 .

III.8.

 1.   3 2b 4ab2 .
  3 2b ( 4ab2 ).

, :
3 2b ( 4ab2 ) = 3 ( 4)a2 a  b  b2  c.

 3 2b  ( 4ab2 ) = 12 3b .
, .

. :
5ab3 3a3  bc2 = 15 4b3  bc2 = 15 4b4 2.

:

 2    12 3b 4  . 
: 12 2b : ( 4a).

,
: a b, b

, . . a : b = c, b  c = a.
Bo  12a3b : ( 4a)

, ( 4 ) = 12 3b.
- 3 2b.

3 2b (  4a) = 12 3b. : 12a3b : (  4a) =  3a2b.
Bo :

, ,
, .

, ,
. ,

.
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2 :
)  4 3 : ( 2 2 ), )  9 3 : (3 2), )  6 2 2 : (3 2 2).

: 6 2 3 : (3 2 ) = 2 2,  2 2  3 2 = 6 2 3.

,
 ( ) .

,
.

,
, , , :

- , , ,
- ,

.

, , .

,  8 2 : (4 ) .

 15 2 : (3 2 3) = , .

,
, , .

3

4

5

6

:
) 3 2, )  5a2b 3ab, )  5a 2a3b2c, )  4 2 2  (0,5 3).

: ) , )  7a2b2x  ( 4ab2), )  2a5  b2.

:
a)  15a5b3c : ( 5a3b3), ) 24 3b2c3 : (8a2b2c2), ) 9a4b : (ab), )  l,2a7c : (0,4a4c).

:

a)  0,5x3y : ( 0,04x2y), ) 18 3 : (6 2), )
.

7  ( ):

) 9 6 2 : ( 4 2), )  ( 25 4bc2) : ( 10a2b3x), ) , ) .
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8 ?

:
)  ( 3)2, )  ( 2)4, )  ( 4)2.

9

III.9.

III.10.  CO 

3 2 .
– 3 2 : ( 3a2x)3.

, ,
:

( 3a2x)3 = ( 3)3  ( 2)3 3 =  27 6 3.
  ( 3a2x)3  e :

( 3a2x)3 = (–3 2 ) (–3 2 )  (–3 2 ) = ( 3)  ( 3)  ( 3) 2 2 a2  = 27 6x3.
, . :

 5 2  3 + 1  2 3.
:

(5 2  3 + 1)  2 3.     (1) 
Co ,

 (1) ,
:

,
.

.

1

2

3

:
a)  (2a2b3)2, )  ( 5ab2)3, )  ( 4 3y)2, )  (ab)3, )  (ax2y)5.
e : )  (2 y)3, )  (2,4a2xy)2, )  (5 2)3, )  (3 2 )4.

: (a + b) c = a c + b c?

 (5 + 3 + 1)  4 .4
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,
, .

(5 2  3x + l)  2 3 = 5 2  2 3 + ( 3 )  2 3 + 1  2 3 = 10 5  6 4 + 2 3.
.

, :
 4  (5 2b  2ab  3a) = (5a2b  2ab + 3a)  (  4a) =

= 5 2b (  4a) + ( 2ab)  ( 4a) + 3a ( 4a) =  20a3b + 8a2b  12a2.
:

1 j :
a)  2  (3 2  4 + 5), )  (3 4  5 3 + 3x2  2 + 4)  (  6 ),
)  (4a3  ab + b2)  2ab.

2

3

4

5

:
a) (3a  5b)  4ax2, )  (7ab2  3a2b + 4ab)  ( 2ab2).

:
a)  5a  (2a  3b)  4b  (3a + 5b)  2  (a 3b) + 8ab,

) 2 [3 5( 2 )]  8 [4  + 7 (  1)],
)  5  2  {1  4(3  2 + 1)  7  [a  (6  3 )  8]}. 

:
a) 2x  (x 3y + 1)  4  (2  + y 3)  (2 14y + 2),

) 3  ( 2 + 1) 2 [3 (4 3)] (11a2 + 3). 
:

a) 2  (3 1) + = 33, ) 3 2  ( 5) = 1,
) 5  ( 1) 3  ( 2) = 9, ) 4  ( 3) (2 + 1) = 5.

III.11. 

, ,
. a + b c + d. 

(a + b)  (c + d).
a + b  ( ),

M (c + d).
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   M  (c + d) = Mc + Md.             (1)
 (1) a + b, 

:
(a + b)  (c + d) = (a + b)  c + (a + b) d.         (2)

a + b 
c + d. , :

(a + b)  (c + d) = ac + bc + ad + bd.          (3)

,

,
.

Ha  1 
 (3).

:

. 1

ad

ac

bd

bc

d

c

a b

: 1. Co 
,  2. 

. . :
 (2 3 2  + 3 2 5 3)  ( 2  3  + 2 2)

 ( 2) ,
 ( 3 ) , ,

. :
(2 3 2  + 3 2  5 3)  ( 2 3  + 2 2) =

= 2 3 2 2 2 + 3xy2 2 5 3 2 + 2 3 ( 3xy)  x2y ( 3xy) + 3xy2 ( 3 )
5 3 (  3 ) + 2 3  2 2 2 2 2 + 3 2 2 2 5 3  2 2 =

= 2 5 4  + 3 3 2 5 2 3  6 4  + 3 2 9 2 3 + 15 4 + 4 2 2 2 3 + 6 4 10 5.
 ( ),

:
(2 3 2  + 3 2 5 3)  ( 2 3  + 2 2) = 2 5 7 4  + 10 3 2 16 2 3 + 21 4 10 5 .

1 :
a)  (2a 3b) (a 5b), )  (6x2 2 + 3)  ( 1), )  (7 2 5  + 4 2)  (2 ).

2

3

:
a)  (a 3)  (a + 5)  (a 4)  (a + 1) + (2 3)  ( 4 ),

) ( 2 + 3 1)  (2 + 1) 5  [2  ( 1)  (3 + 2)]. 
: = 2 1,  = 2 + 1, = 3 + 2. :

) , ) , ) , ) , ) ( ).
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4

5

6

:
) + , ) ( ) , ) (  + )  ( ), ) ,

 =  + 2 ,  =  y = 3 .
b .

,  15 ,  3 
, . = 30, b = 38. 

2  ( 3)  ( + 3) .

:
a) (a2 + ab + b2)  (a  b) = a3 b3, ) (a2  ab + b2)  (a + b) = a3 + b3.

7

III.12.  CKPATEHO 
 Bo  ce  co ,

. ,
.

. , .
:

.

III.12.1.
. A + B,

.

. :
(  + )  ( ) = 2  + A 2 = 2 2,

. .
(  + )  ( ) = 2 2.     (1)

2 2 . :

.
:

a)  (2x + 3y)  (2x 3y ) = (2x)2 (3y)2 = 4x2 9y2 , 
)  (5ab2 + 4c2)  (5ab2 4c2) = (5ab2)2 (4c2)2 = 25a2b4 16 4,
)  58 62 = (60 2)  (60 + 2) = 602  22 = 3600 4 = 3596. 

1 :
)  (  + 3 )  ( 3 ), )  ( 2 1)  ( 2 + 1), )  (5 + 3 )  (5 3 ).

a b, a>b>0
 ( . 2).
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a  b

a
a

a

b

b
b

. 2

2 : ) (1 + 3 )  (1 3 ), ) .

3

5

6

4

:
a) (a  b)  (a + b)  (a2 + b2), ) (3a + b)  (3a  b) 9a  ( 3).

T :
a) (a 2)  (a + 2)  (a2 + 4), )  ( 5)  ( + 5), )  (3 )  (3 + )  (9 + 2).

:
) 97  103, ) 201  199, ) 1,05  0,95, ) 63  57, .

 (2x 1)  (2x + 1) (4 2 3 + 5) = 0.

7  cm.  3 cm, a
 3 cm, .

. ?
:

a) (a + b)  (a + b), )  (2a  b)  (2a  b), )  (3 + 2y)2.
8

III.12.2.
.  (  + )2

+ .
,

 (  + )2, :
(  + )2 = (  + )  (  + ) = 2 +  + B  + 2 = 2 + 2  + 2.
,

(  + )2 = 2 + 2  + 2.     (2)
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,
.

a

a

b

b
1 Co ,

:
) ( + 4)2, )  (7  y)2,     )  ( 3 + )2, )  (  x 1)2.

:

:
a) (3x + 4y)2 = (3x)2+ 2  3x 4y + (4y)2 = 9x2 + 24xy + 16 2,

) ( 2 )2 = [  + ( 2 )]2 = 2 + 2 ( 2 ) + ( 2 )2 = 2 4  + 4 2,
) ( 5 4 )2 = ( 5)2 + 2  ( 5)  ( 4 ) + ( 4 )2 = 25 + 40 + 16 2.

,
, .
:  (5 3)2 = 25 2 30 + 9. 

ab

aba2

a + b

b2

. 3

(a + b)2 = a2 + 2ab + b2, >0 b>0,
. 3. 

!
.

 (2) 
, . .

   (3)
 (2  3b)2,

: = 2 = 3b,
 (2), = 2 = 3b,

(3). .
 (3).

 (2)  (3) 
:

.

2 :
) ( + 2)2  ( 2)  ( + 2), ) (3 2 )2  (5  + )  (5 ),
) ( + 3y)2 4(2  y)2 + 5 y.

3 :
a) (2 1)  (2 + 1)  (2 1)2, ) ( + 2)  ( 2).
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5

4

:
)  412, )  232, )  1012, )  992, )  682.

Co
(a + b + c)2 = [(a + b) + c]2.

:
(a + b + c) : d = a : d + b : d + c : d ?

2 3 + 2.  = 1
.

:
) (48 18) : 6, ) (63 + 21) : 7.

:
) (  y)2 = 2 2 + y2, ) ( )2 = ( )2, ) ( )2 = (  + )2.

8

9

6

7

III.13.  HA  CO 

 8 3 + 12 2  4 .
 (8 3 + 12 2) : 4 .

,
:

(8 3 + 12 2) : 4 = 8 3 : 4 + 12 2 : 4 = 2 2 + 3 .
: (2 2 + 3 )  4 = 8 3 + 12 2. , :

,
.

:
(15 5 9 4 + 12 3y2 ) : ( 3 3) =

         = 15 5 : ( 3 3) 9 4 : ( 3 3) + 12 3y2 : ( 3 3) = 5 2y + 3 4 2.
, ,

.
,

.
:

-  - ( ) ,
,

-
.

,
, . . .

, : , .
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3

5

:
) ,
) ,        
) .

:
a)  (2a  b) : (5ab), )  (4ab 3a2 + b2) : (2ab), )  (8 5 ) : (3 2).

:
) (8 5 4 4) : 2 3 (12 4 9 3) : ( 3 3), ) 5 3 [2 (9 2 6 2) : (3 )].

: ) 6345 : 15, )  25984 : 112.6

4

III.14.  HA  CO 

 1.   651  21 
, :

 651  21 

: (6  102) : (2  10) = 3  10. ,
: (2  10) : (2  10) = 1.

,
.

.

1 ? :
(18 3b4x  12a4b2 + 6a2b3c) : 3a2b2.

2 :
) (20 4 15 3 + 35 2 5 ) : 5 , ) (14 5 21 4 + 35 3 7 2) : ( 7 2).
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1

:

,  ( ) ,
.

.
:

)  ( 4 + 2 + 1) : ( 2 +  + 1), )  (3x5  8 4 + 8 3  5 2 + 3  1) : ( 2  2 + 1).
2   K ,

. ,
- . , -

- .
Ha , :

q(x) = 5  + 4 r( ) = 3  5. 
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5 3  6 2 + 10  + 7) : ( 2  2  + 3) = 5 + 4 + ,

5 3  6 2 + 10  + 7 = ( 2  2  + 3)  (5 + 4) + 3  5.
:

( ) ( ) :
- q(x) - r( ),

( ) = ( )q(x) + r(x) r( ) q(x)
.

2 - -
(2 3 + 2 + 2 + 1) : ( 2 + 2).

. ,    (  + )  ( ) = 2 2

( 2 2) : (  + ) =   ( 2 2) : ( ) =  + .

3 :
a)  (6x2 + 8xy 8y2) : (3x 2y), )  (12ab l6a + 9b 12) : (3b 4).

4

6

7

5

, , :
)  ( 3 3 2 + 2 3 + 2) : (2 ), )  (4ab 4b2 + 35a2) : (2b + 5a).

, :
) , ) ?

x  z 
, . .

 24a4 48 3 4 2 + 35 2 ,
 2 2 2.

:
) 6 2 + 3 = (...)  (2 + 1), ) 7  (...) = 35 2 + 14 .

:
a)  (15 2 4 + 4) : (3 2), )  ( 4 + 3 + 7 2 + 3 + 25) : (2 2 + 3 + 5). 

9

8

III.15.

:
, ,  (

) .
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1. ,
,

.

2. ,
,

.
, :

, .

1 , :

a) , ) , ) , ) .

3

2

:

a) , ) , ) .

, .

. ,
.

, , ,
.

. : , , ,
,

. , ,

,  ( )
, . , :

, , , ,

, .
:

, ,
.

:
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:

) , ) , ) .

4

III.16.  HA 

. ,
. ,

:
, .

.

. ,
. , .

,  + 
.

,
, .

,
.

III.16.1.

 1  
. ,

(a + b) c = a  c + b  c , : a  c + b  c = (a + b)  c.
:

 1.
16 3  + 12x2y2 8x2yz.

.
.  (16, 12, 8) = 4. :

 2 (
), , ,

 1 ( ). z ,
. , -

( ) , : 4 2 .
 4 2 , -

. :
16x3y + 12x2y2 8x2yz = 4x2y 4  + 4 2 3  + 4 2 ( 2z) = 4x2y  (4x + 3y 2z).

 2.  15 3  5 2.
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1 :
a)  8ab + l2ac, ) 2 2 6 , ) 3 2 .

 4. .
. :

. ,  + 

.
Co ,  + 0, , :

= = .

 2  
 (

), .
(3  6)  (5 ) = 0.

, , .
, ,

. ,
,

3  6 = 0,  5  = 0,
:  3  6 = 0 

,  5 = 0 , ,
(3  6)  (5 ) = 0.

,
 3  6 = 0  5 = 0. 

.  5 2.
:

15 3  5 2 = 5 2 3  5 2 = 5 2(3  1).
,

, .
5 2, : 2, 2,  5 2,  15 2, 10 2 . ,

15 2, :

15x3 5x2 = 15x2  ( x) + ( 15x2) = 15x2  (  x + ).

 3.  3a  (x  y) + b  (y  x).
. , . .

 = ( ). b  (y  x)  b 
(x  y), :

3a  (x  y) + b  (y  x) = 3a  (x  y)  b  (x  y).
 ( ) , :

3a  (x  y) + b  (y  x) = 3a  (x  y)  b  (x  y) = (x  y)  (3a  b).
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2 : )  2 2 +  = 0, ) 3  4 = 0.

3 :
) 3  3, ) 2a2  ab, ) 3 2, ) 3  9 ,
) 2a + 5ab, ) 12  15ay,    ) 2 2 3.

5

4

:
a) a  (b  c) + c  (b c), ) a  (x y) b  (y x), ) (  3)2  (3 ).

:
) 2  5 2 , ) 12 3y2  18 2  + 6 2 2 + 30 4 , ) 6 4 2  8 2 3 + 16 3 .

 3  6 = 0, = 2. , = 2. 
 5 = 0, = 5. = 5. 

, = {2,5}.

8

7

6

:
) 5  (2  1) = 0, ) ( + 1)  (  3) = 0,
) + 4  2  ( + 4) = 0, )  (  1) + 5  (1 ) = 0.

, :
) 386  385  37, ) 349 + 348  35. 

:
) (3 )  (3 + ), ) ( )  (  + ).

:   a) 16x4y2, ) 25 2 6, ) 4 2.
.

: ) , ) , ) .

9

10

III.16.2.  A2 - 2

  (  + )  ( ) = 2 2.    (1)
Co

2 2 = (  + )  ( ).    (2)
:

.
 (2) 2 2.

:
 1.  4 2  9.
. ,  (2 )2

 32,  2  3.
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1 : ) 2 2, ) 2  1, ) 9 2  25.
 3.

12x3  3xy2.
.

,
3 . Co , :

12 3 3 y2 = 3  (4x2 y2).
Co . ,

 4 2 2 . ,
 (2), :
12 3  3 y2 = 3  (4 2 2) = 3  (2 )  (2 + ).

 ( ),
.

 4.   (a + l)2 – b2.
. (a + l)2 – b2 = [(a + 1) – b][(  + 1) + b] = (a – b + l)  (a + b + 1).

2

4

5

6

7

9

8

)  9 2 2 1, ) 2 162b2 2, )  49 2 36 2.

) ( )2 1, ) (1 )2 4 2, ) (  + 2)2  ( 2)2.

) 5 2 20y2, ) 4 2 2 4, ) 5 3 5 2.

) 4 2 2 , ) a4  a2b2, ) 27ab2 3ac2.

) 5 3, ) 3a2 3b2, ) 8ax2 2a.

: ) 2 = 121, ) 2  3  = 0. 

: a)  582 482, ) 1312 692, )

3 ) 100 9 :2, ) 25x2 , ) 2 2 .

.

:

 Co  (2), :
4 2  9 = (2 )2  32 = (2  3)  (2 + 3).

 2. 
25 2b2  49 2.

Pe . 25a2b2  49c2 = (5ab)2  (7c)2 = (5ab  7c)  (5ab + 7c).
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10 : ) , ) , ) .

11 , n N :
)  (n + 11 )2  n2  11,   ) (4n + 7)2 1  4.

III.16.3. 2 ± 2  + 2

    ( )2 = 2  2 + 2     (3)
, :

2  2 + 2 = ( )2.     (4)
 (3),  (4) -

2 + 2 + 2 . :
 1.  9 2 + 24 + 16 ,

.
. ,

.  9 2 = (3 )2  16 = 42,
24 , . .

24 = 2  3  4.
 (4) :

9 2 + 24  + 16 = (3 )2 + 2 3 4 + 42 = (3 + 4)2.
 2.   25x4 20x2y + 4y2 .
. :

25x4 = (5x2)2   4y2 = (2y)2,
 20 2y2

 5 2  2 .  20 2  = 2  5 2  (  2y).
,

25x4 20x2y + 4y2 = (5x2 2y)2.
1 T :

) 2 8 + 16, ) 1 + 10y + 25y2, ) 2 2  + 1.
 3. 2 + 6 + 8 .
. .

, 2,  6
 3,  8  3.

 8  8 = 9  1, 
:

2 + 6 + 8 = 2 + 2  3 + 32 1 = ( + 3)2 1.

. , ,
:

2 + 6 + 8 =  = ( + 3)2 12 = [( + 3) 1][( + 3) + 1] = ( + 2)  ( + 4).
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2

4

5

6

7

8

) 2 + 4 + 4, ) 2 2ab + b2, ) 9 2 + 6 + 1. 

)  4 2 + 4ab + b2, )  4x2  2x  + , ) ax2 + 2ax + a.

Ha ,
:

) 2 + 10  + *, ) 2  * + 25, ) * 42ab + 49b2.
:

)  472 + 2  23  47 + 232, ) 71,52  2  71,5  21,5 + 21,52.
:

) , ) .

:
) 2 6 + 9, ) 2 10 + 25 .

3 )  4 2 + 12 + 9, ) 2 2  + 1, ) 16a2 + 24ab + 9b2.

:

:
) 2 14 + 48, ) y2 + 8y + 15, ) 2 8 1.

9

10 :
) 2 + 2  + y2 2, ) a2 2ab + b2 49, ) 2  8 + 16 y2.

III.16.4.
.

 1. x3  2x2 + x 2 .
, ,

x3  2x2 + x 2  = (x3  2x2) + (x 2) = x2  (x  2) + (x  2) = (x  2)  (x2 + 1).
 2. x3 x2y + 3xy 3y2 .

, ,
x3 x2y + 3xy 3y2 = (x3 + 3xy)  (x2y + 3y2) = x  (x2 + 3y) y  (x2 + 3y) = (x y)  (x2 + 3y).

, .
, .

.
 3 ( ).

2 + 6 + 8 . ,
.  6 

4 + 2, 
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2 + 6 + 8 = x2 + (4 + 2) x + 8 = x2 + 4x + 2x + 8 = (x2 + 2x) + (4x + 8) = 
= x  (x + 2) + 4  (x + 2) = (x + 4)  (x + 2).

,  6  3 + 3,  5 + 1, ,
. ,

 6 = 4 + 2 ,
 8  4  2. 

. 2 + + ,
p  q,  = p + q B = pq.

, :
2 + +  = x2 + (p + q) x + pq = x2 + px + qx + pq = 

= x  (x + p) + q  (x + p) = (x + q)  (x + p).

1 ) x3  5x2 + x 5, ) x3 + x2 + x + 1, ) y3 + 4y2 + 2y + 8.

) 2 + 5 + 6, ) 2 +  2, ) 2  2.
2 ) x4 + 3x3 + 3x2 + 9x, ) y5 y4 + y3 y2 + y  1.

:

1
2

3

4

 7 2 : ) 2 , ) 5 2, ) 5 2.

 2 2  7 + 4 .

 9 2  5 , :
)  10 2  5, )  4 2 + 4.

:
) ( 5  + 6 2  7 2)  3 2 , ) 6 2  (2  2 3 + 4 2 ).

 -III

3

5

6

7

8

9

a:
a) a  (b c) + b  (c ) +  ( b), ) a  (b + c bc)  b  (c + a ac) + c  (b  a). 

n  (n + 5)  (n + 3)  (n + 2) n
 6.

 1 
.

:
) 2 + b2 = (a + b)2  2ab, ) (x y)2 = (y x)2 , ) (a +b)2 (a b)2 = 4ab.

,
4. .
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12

13
14

15

. .
: ) (4 2  9) : (2 + 3), ) (3 3  5 2 + + 1) : ( 2  2 + 1).

 3 3  2 2  5 + 4 ,
2  2 + 1. 

: a) (x3  3x2 + x  1):(x  1), ) (x3 + 3x2 + x + 1) : (x + 1). 

1

2

: ) ( 3 2b2)2, ) ( 5b4)5, ) (2 )4.

.

 - III

10

11
12

 (n + 5)  (n + 7)  (n + 2)  (n + 10) n.

y3  3y2 + y + 1  y  1. 

: ) 4 2  4 + 1, ) y3 + 4xy2 + 4x2y.

3

4

5

7

9

8

6

:

) 2,4 2, ) 5 3, ) , ) , ) 0,75 3.

:
a) 3a2b, ) 43 2y2, ) 5 3, ) 2 , ) 52 b.

:
a)  6a3b4 : ( 2ab3), )  4 4 : (8 2), ) (x3y4) : ( 0,2x3y2).

) 49xy3, )  2x2yz, ,
.

 ,,*“ x2 + * + 4y2

. ?

.

: ) 64 2  9, ) 5 2  20.

10 : ) , ) .

11 : ) , ) .
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.

IV.1. .

.

 IV

. , ,

.

1. ,
.

2.  ( )
, .

1.   :

,  1 
k. AB k

,
( . 1), ( )

,
AB , ( ) AB

. . 1

. 2

: k ( , r)  = COD. ( .2).

: AB CD .
: ,

AB CD .
 (=r),  (=r) AOB = COD,

 ( )
C DA B .

:
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1

2

 ABC co .

AC BC ?

 ABC .

AB , BC AC .

2. ,
. ,

.
 1  2 

. ,
, .

. :

2.
.

AB  co AB ,
, . ,

 180°, MN
 90° MN =90°.

3

5

6

. .

:

)
6
1 , )

8
1 , )

12
1 , )

18
1 . .

:
) ,

?
) ,

?

AB BC .
, , .

4
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.

7

8

10

:
) 45°, ) 30°, ) 60°, ) 135°.

 3  CD_ce k.
: AC = BD BD.AC

k
 AC  AD, 

. AC = AD . . 3

IV.2. .

1. , , ,
, .

. 4

. 5

,  ABC 
k ( . 4) AC ,

 ABC, (
)  ABC, 

ABC AC .
:

.

.

: BC = k.

: BC= =
2

AC  ( .5).
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. :
)  ( . 5 ).

. , AOC=  AC, 
ABC= .

 ( CB - ), =2 ,

2
. :

AC  ( = AC ), :

) .  BD
, 1 2,

= 1+ 2 ( . 5 ). 1 2, , :

1 2
AD

2 2
DC .

)  ( . 5 ).
,  BD, 

1 2, . . = 1 2.

: 1 2 2 2 2 2
AD DC AD DC AC , . .

2
AC .

: 1 2 2 2 2 2
AD DC AD DC AC , . .

2
AC .

. :

:
, ,

 ( . 6).

,

. . 6

1 :
) 45°, ) 36°, ) 30°?

2.  7 .
.

, N, , ... . ,
„

“, „ “ .
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.

.
 ( )

.. 7

2  A, k,  AC k. O
 ABC.

:

. .

, M, N, P,... ( . 7)
,

B,
. .  180°.

, , .

3

4

5

6

7

?

, :

)
4
1 , )

9
2 , )

6
5 , )

5
2 , ?

180°. .
p  B p. ,

.
k(O, r)

 MB ( . 8). 
CD =2,5cm.

k.
 ABC 

,
ABC  M  N. 

AM , MN NB .

8
. 8
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. 9

10

:  30°, 
, ,

.

k(O,r) . k1,
 OS. k k1,

.

 AB, a< AB .
a.BC

11

IV.3. 

1. :

. ,
.

,
. :

k(O,r),
 ( . 9). 

:

:
(O, r) ,

.

: k(O, r) p.  A k , A p  ( . 10). 
: p k.

. , ,
 A (M A), A , . . M > A  ( ?).

, , k.
, k , . . k={ },

, k.

9
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.

. 10 . 11 . 12

2. e
,

.
 1.  k(O, r) .

. k(O, r)  ( .
11) ,  OA. 

: )  OA, 
A,AM ) .

k.
 2. k(O,r),

 k.
. : ,

k  ( . 12). 
k ,  OTP . ,

,
. , k

k1,  ( . 12).

: k
. k1(O1, 1 ) .

k k1
.

. k1
k, k1 k 1, . . k k1={ , 1}.

OTP 1 . 1

1 , ,
.

: ,
.

,
, .
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 3. : ,
, .

. k(O,r)
1 co 1.

 OTP 1  ( . 12). ,
1. : 1 .

1 .
 OTP 1  ( . 12) :

)  OP 1  TOT1.
)  OP 1.

1

2

3

7

4

8

5

9

6

10

.

r,
.

,
?

, e p ,
q.

r,
p?

p p. ,
p.

: ,
, .

k(O,r) , .
 k, .

, : ) , )
.

k,  1
, 1. 1

45°. 1.
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.

IV.4. 

 13 k
 MN  TP k.  TP, 

 TP, co  MN 
MTP= NTP= , co 

.
.

,
, ( ) . . 13

. 14

.
, .

 ( . 14). 
 TQ TM .

2
( . 14).

: =90° ,

2 2 2 2
, . .

2
.

.

.
, .

1 k k  B k
. .

2  ( BCAC )

. : || .
k

 ( . 15). 

AB M .

3

. 15
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k,
,

 A, ,  ( . 16). 
:

AB , . . AMB=
2

AB .

4

. 16

5 , ,
,

.

 A, ,  D. 
ABC  ADC, . ?

6

IV.5. 

. 17

. 18

,
, ( . 17). 

 ABCDE  17 
k, k

ABCDE.
,

. , .
, , .

,
.

1. .

.  ABCD 
k, . .  A, , , D k ( . 18). + =180°.

, ,  ABCD 
k. :

2
BCD ,

2
DAB , :
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.

2 2 2
BCD DAB BCD DAB 360 180

2 2
BCDAB , . . + =180°.

+ =180°.
:

2. ,
.

:  ABCD 
„ A+ C=180°“ ( B+ D=180°, ?),

. ,  „ A+ C=180°“
 ABCD .

1 ?

2

3

5

 ABCD,  A, ,  D 
:

) 70°, 90°, 120°, 80°, ) 80°, 100°, 100°, 80°, ) 45°, 85°, 135°, 95°.

 ABCD A=85° B=115°.
.

,  A1, 1
, .

.

 ABCD ABD= ACD.

4

6

Ha k , A, ,  D. 

A, B, C D . A B={M}, B C={N}, C D={P},

D A={Q}. MN , N , M , a 
: MN + N + M . ?

7



102

IV.6. 

. 19

. 20

, ( .
19).  ABCDE  19 

 k, k
 ABCDE.

,
. , .

, .

:

1.

.

 2. 
, .

 AQ, CP  CN,  BN, DP  DQ, :

AAM , BNBM , CNC , DD .

,

:

.  ABCD 
k

, N,  Q ( . 20). 
:

BCADCDAB .

( BMAM )+( DC )=( DA )+( CNBN ), : BCADCDAB , .
:

Co :  ABCD :

„ BCADCDAB “, .

,  ABCD 
.

1 ?
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.

IV.7. 

2

3

4

6

7

 ABCD :
AB =7cm, BC =12cm AD =5cm. .

4
1

.

, :
.

 ABC. ,
,  ABC .

 ABC. k,
 AC .

.5

.8

 V  VI . ,
a . ,

,  ( )
.

:
ABC, ABCD, ABCDE,  ( . 21).

Bo .
. ,

,  - ,
 - , . ( . 21),  co 

- .
( . 22 )  ( )

( . 22 ). .
, ,

 ( . 22 ).  ( . 22 )
.
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1 ? ?
,

 ( ) ,
( . 23), .

, ,
. n- .

 24  ABCDE  co , , , , a 
1, 1, 1, 1 1.

 4, n- ,
n- .

. :

1.  ( ) -  e 
.4),3(

2
1)( nnnnD

. n- , ,
,  ( )

( ) ( . 25).

. 23 . 24 . 25
, n- 3 .

3 ,
. .  (n 3)·n . , ,  BD 

 DB,  (n 3)·n .

n- : )3(
2
1 nn , .
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.

2 , :
) 5, ) 12, ) 20, ) 50 ?

3. - =( 2)·180 .

4.  360 .

2. -
-2 .

. 26

 1.  D(7) = 14)37(7
2
1 ,

 D(10) = 35)310(10
2
1 , .

.  co 1, 2,…,An.
n. n- :

1 2An, 2 3An,   ..., n-2 n-1An,
2, .

 2. =7,
 ABCDEFG  ( . 25).

.
n- , 2 .

,
 180°. 

,
n- ,

n- .
, n =(n 2)·180°.

 26. Co 
 3?

 3. 
5=(5 2)·180°=3·180°=540°, : 6=(6 2)·180°=4·180°=720°.

. 1, 2,…, n n- .

1+ 2+.. .+ n =( 2)·180°, :
'1+ '2+...+ 'n=(180° 1)+(180° 2)+...+(180° n)=n·180° ( 1+ 2+...+ n)=

=n·180° (n 2)·180°=2·180°=360°.
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3

4

5

6

7

8

9

, ?
.

:
) , ) , ) ?

:
) 4, ) 7, ) 15, ) 25 .

?
:

) 4, ) 5, ) 7, ) 15 , ?
:

) , ) , ) , ) ?
 784°.

.
, :

)  540°, )  720°, )  900°, ) 1440°, )  1800°?

IV.8. 

,  (
 60°);  (  90°). 

. ,
, .

. 27

:
n- ?

.
k , (n 3)

,  5 .
 - 

72
5

360
 ( . 27). 

,  ABCDE 
k. , : )

, )
, .



107
.

1

3

5

2

4

6

8

:
)  co ?
) ?

:
) , ) , ) 12- , ) 18- .

:
) , ) , ) .

:
) ?
) , ?

:
) 135°, ) 150°, ) 156°, ) 162°?

,
. !

, ,
, ?

. 28

. n-
:

k (n 3) ( =5)
 A, , , D 

 ( . 28). 
MNLPQ (

) .
, ,

n- ,
 (n 2)·180°,

n
n 180)2( . n-  L = na.

, ,
.

7

, .7
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. 29

. 30

IV.9. 

:
1°. .

. ...  ( . 29). 
 ( A B). ,

A B  180°. 
.

, 2= 3 (
). , .

. :
) BCAB    ( ),
) OB ,
) 3= 4 ( ).

, . CB .

, : MCBA ... .
, ... ,

.
2°.

.
. ...

 ( . 30). 
, ,..., A

,
. , ,Q,…,

.

, , .  2° 
:

,
.

,
, .

 ( . 31).
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.

. 32

. 34

. 33

. 35

. 31

,  (R) 
;

 (r) .
.

n
360

.

3 .
.

,

 ( ?). ,

 ( . 32  33).

. , ,
 ( . 34  35). ,

,
. Co .

( ) ,
3° :

)

( . 32  35).
) -

,
( . 33 34).

) -
  

.
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,
, .

, :
4 ,

.
:

5 - ,
.

1

3

2

4

5

7

10

.

, :
) , ) , ) .

:
) , ) , ) , ) .

:
)  45°, )  30°, )  144°.

:
) 17°, ) 20°, ) 25°, ) 45°, ) 50°, ) 100°? , ?

 36  ABCDE .
, y z .

.
?

. 36

 AC  AD 
ABCDE .

, :
) , ) .

, ?
?

6

8

9

,
.

.

11
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.

. 37

IV.10. 

 ( )
.  ( ),

.

 ( . 31). 
 ( n) ,

 (R) ,  (r) ,

n
360

 ( ),
.

 ( )
,

, = n
360

, ,
j ,

, .
.

 1.  ( )
r.

. r
.

.

ABCD,  ( . 37). 
, ,

,
, .

4 , ,
 8,16,32,... .

 38 ,
.

 2. = 1,5 cm.
.

45
8

360
,  67°30’.  67°30’ 

 67°30’=45° +
2

45
,

 = 1,5 cm.
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BAR

.
, , , D, , F, G 

=1,5 cm 
( . 39).

. 38

. 40

. 41

. 39

 3. =2 m.
.

60
6

360
. ,

.
:

, . . R = a.

 6 ,

, .

R=a
, , D,  F, 

ABCDEF ( . 40).

: ACE BDF.
 4.  (
) .

. ,  6 
, ,

 ( )  12  ( . 41). 
 12 

,
,  ( .

41).
, ,  12-

,
 12- , .
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.

 12-
24- , .

1

3

6

2

4

7

5

8

 R=4 cm :
) , ) , )  16- .

 42 .
.

 R 
.

, :
) , ) d.

:     
) 6- , ) 12- .

Co  R=4cm :
) , ) .

a = 7,5 m.
 1:250.

Co =3 m.

. 42

IV.11. 

1. ,
. : ,

;
, .

.
:

.
, . . 2 = 2 + 2.

. ,
 VI .

, .
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. 43

. 44

2. . :

 ( ).  ABCD 
co a+b ( . 44). , , CD  DA , N,  Q 

= BN = C = D =a, = NC = D = =b.
MBN b, .
MBN, NCP, PDQ  QAM . = N = = M =c.

MNP=90°. : BNM+ MNP+ PNC=180°, BNM+ MNP+ NMB=180°. Ho, 
BNM+ NMB=90°,  MBN .  90°+ MNP=l 80°, 

MNP=90°.
NPQ= PQM= QMN=90°.

 MNPQ .
 ABCD 

b
. ,

:
PABCD =  4·PMBN+PMNPQ,

(a+b)2 =4·
2

ab +c2, a2+2ab+b2 = 2ab+c2, . . 2 + 2 = 2.       (1)

 (1) :
 2 = 2  2 2 = 2  2,                (2)

 (1)  (2) :
22 bac , 22 bca 22 acb . (3)

,

,  100 
.

 43 

b, .

.

.

Co  (3) 
, .
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.

. 45

. 46

3.

:
,

.

 ( ).
 ABC 

222 BCACAB  ( . 45). 
 ABC .

1 1 1, ( C1=90°) ACCA 11 BCCB 11 .

1 1 1 :
2

11
2

11
2

11 CBCABA =
222 ABBCAC , . . ABBA 11 .

, 1 1 1,
ABC ( ), ABC

. Co .

a,b c e
. ,  3, 4  5 

,  32+42=52.
,

.
 ( )  ( . 46). 

 5,  12   13 ,  52+122=132.
, .

, k 2+ 2=k2

. , : 3, 4  5; 5, 12  13; 20, 21  29.

1

3

2

 ( ) , :
a) a=5cm, b=12cm, ) =7cm, b=9cm, ) =8cm b=15cm.

,
:

a) c=65cm, b=48cm, ) c=28cm, a=20cm, ) c=17m, b=12,3m.

,
:

a) a=14cm, c=18cm, ) a=24cm, c=26cm, ) a=3,3dm, c=6,5dm, ) b=8,5m, =12m.
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. 49

4

7

8

9

10

5

 ABCD  8cm. Bo
 MNKL, 

.
NKL ( . 47).

 24km/h, 
 18km/h.

 5 .

:
) , ) ,
) , ,
) , ?

, :
a) a=15cm, b=36cm, c=39cm, ) =7cm, b=12cm, =15 m,
) =20cm, b=13cm, =25cm, ) =9cm, b=12cm, =15cm.

 (3,4,5)  (5,12,13). 
:

a) (6,8,10), ) (9,12,15), ) (10,24,26), ) (15,36,39), ) (25,60,65), ) (1,5;2;2,5).

 AMN, 
 ABCD ( . 48). 

.

 30° 
bcm.

.

6
. 47

. 48

IV.12. 

. Co 
, ,

, .
:

 1. d
, =7cm b=4cm.
. Co  ( )

,
 ( . 49). 

 ABC, : d2=a2+b2,

d = 22 b = 22 47  = 1649  = 65 8,06 (cm).
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.

. 51

. 50

 2. d  R 
.

. Ha  50  ABCD 
. d

,
. Co ,

:
d2 = a2+a2 = 2a2 22 2 aad , . . 2ad .           (1)

:

2 .

 R 

d, . .  R=
2
d , :

2
2aR .                                                             (2)

 3. , a  8cm. 

. 2ad , :

6,741,1424
2

28
2

2
2

dda  (cm).

, a 7,6cm.
 4. , : 9cm  12cm.

.
. ,

.  ( . 51), :

.
22

2
2

2
12 dd

:

25,563656,2065,4
2

12
2
9 22

22
2a

a = 25,56 = 7,5 ( m).

: L = 4a = 4·7,5 = 30 (cm).
 5. ,

, =12cm b=15cm.
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. 52

. 53

. 54

. , ,

 ( . 52). ADC, :
2

22

2
ab .

 = 7,1318936225 (cm).

 6. 
:

)
2

3a , )
3

3aR , )
6

3ar ,    (3)

, R r , ,
.

. a) Co ,
 ABC ( . 53.) 

.
ADC (  DBC), :

,
2

3
4

3 2 aa .

,
2

3a .

), ) Ha  54 
ABC, .

,
,

 2:1 . ,

1
2

D
C , . .

1
2

r
R , rR 2 .

  R+r= ,  2r+r= , 3r= r
3
1 .  R=2r, R

3
2 .

, : R
3
2 , r

3
1 .    (4)

 (4) ,

3
3

2
3

3
2

3
2R

6
3

2
3

3
1

3
1r .

, :
3

3aR
6

3ar .       (5)
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.

. 55

. 56

. 57

 7. 
a=12 cm.

. , :

4,1038,1073,1636
2

312
2

3  (cm), 

9,692,673,1434
3

312
3

3R  (cm), 

5,346,373,1232
6

312
6

3r  (cm). 

 8.  R r -
.

.
,  ( .

55).
,

 ( ?).

, . . :
    = .    (6)

 55 
, . .

a

    2
3ar .         (7)

 9. 
ABCD, aAB bCD AD = BC =c  ( . 56).

.  D  DE 
.

 BCDE 
 AED, baA D .

 DF  AED 
. :

2
22

2
bac ,

2
2

2
bac .

 10. r = 4cm 
=6,4cm. .

. ,
 ADO  57, :

4,276,52,316
2
4,64

2
2

2
2

2
2rd  (cm).
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1

3

6

2

4

7

5

8

9

10

, :
a) a = 7cm, b = 9cm, )  = 6,2 cm, b = 8,5 c .

, a = 6cm.

,
=7cm b=5,5cm.

Bo ,  4,8 
cm  1,4 cm. .

Bo  9cm 
.

 ( . 58).

 3,5cm, ,

,  3cm.

a =22,5cm.
,

 18cm.

B , C CD  59.

. 58

. 59

.
.

 5cm  10cm, 
 13cm. .

11
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.

. 60

. 61 . 62

)     )

IV.13. 

1.   Co 
, :

 1.  K1=
2   K2=b2 ( . 60). 

K, , . . K=K1+K2.
.  K= 2

,  ce a b (  K1  K2) ( . 60), :
c2=a2+b2, a   K=K1+K2.

Ha  61 22 347
7.

 2. , :
) 22 bax , ) 22 bax , (a > b), b .

. ) ,
22 bax
aA bB  ( . 62a). ) 22 bax

,
a, b ( . 62 ).
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. 63

2. ( )
, 7 .

6
.

n , n
 (n {2,3,5,6,7,8,10,11,12,13,…}).  
 3. 
2 3 .

. 1,
1=1 ( . 63).

211 222
1

2
1 .

k1, r = 1 . j
, 2 , 2  ( . 63).

21 , ,

1 2  1, 1 2,

31)2( 222
21

2
12 .

k2 32

3 3 .
 4. 

5 , 6 , ,...7
. 1,

2 11  ( . 64). 

51412 22
1 .
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.

. 64

k1, 51

5 5 .

1M2, 51 , 121 ,

6151)5( 22
2 .

k2 62

6 , 6 , . ( . 64).

, n k2 < n < (k +1)2,
k = n k2 ,

n .

1

3

6

2

5

:
) 10 10 , 22 1310 ,
) 8 8 , .

b. ,
22 4bax , 22 4bay .

a 22 , a2+2ab = (a+b)2 b2.

.

a  b (a>b) , :

) 22 4ba 22 ba , ) 22 ba .

a cm.  = 12a .4
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. 65

IV.14. 

 ( : ,
, ). .

,
,

.
, ,

. , é,
.

,
. ,

 1 m (1cm, 1 dm, 1 km).
 ( , , )

 1 m2 (1 cm2, 1 dm2, 1 km2).
, . .

,
- .

,
( )

.
.

. ,
, :

1 . , . .
 F = F .

2°. 1 2,
, . .

21
.

,  65 
 I, II  III.

, ,
( ).

 1° :
. , , . .

, .
,  ABCD 

 66  (
 ADE)  

(  EE’CD), 
, , .
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.

. 66

 ABCD ( . 66) „ “
EE’CD ( ).

,
, .

1

2

?

?

3

6

4

7

5

 10 ha. :
) , ) , ) . .

.
.

?

:
) ,
) ,
) He ?

, .
Co ,

:
) , ) .

.
? ?
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. 67

IV. 15. 

b,
= · , . . :

.
.

.  ABCD, 
= cm b=n cm, n  ( . 67). 

ABCD  1 cm ( . 67). 
,  1°  1cm2. ,

 2° =( · ) cm2,
=(  cm)· ( cm),

 = · .

Ha  67  ABCD e co a=7cm b=4cm. Toj e
 7· 4=28 o 1 cm2.

 = ab = (7· 4) m2 = 28 cm2,  28 
 ABCD  l cm2.

.
.

,
.

. , =1,2 dm  
b=7 m.
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.

.
,

. a = 1,2 dm = 12 cm b =7 cm, : =a· b= 12·7 = 84 cm2.

1

2

, :
a) =1,7 dm b=6cm , ) =1,2 m b=4 dm. 

 (
, . . b = ), :  = · , . . = 2.

, =6 cm
= 2 = 62=36 cm2.

:

a) 3 cm, )
5
3 m.

3

6

8

4

7

9

5

 ABCD .
, :

a) P=1400 m2, a = 35 m, )  P=53,3 dm2, b=6,5 dm.

,
a = 6 cm b = 24 cm.

 7,5cm  5cm .
?

,  24cm2,
: ) 4 cm, ) 5 cm, ) 6 cm, ) 8 cm.

:
,  16 cm. 

?

 68. 
? ?

, :
)  2 , ,
)  3 ,  2 ?

=8 m, :

) 2cm, ) 4cm?

10
. 68
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. 69

        a)          )

IV.16. 

:

.
, . .

 = · .
.  ABCD, .

a.
 ABCD 

= · .          (1)

 D .
 EFCD, 

.  69  F 
, :  ( . 69 ),  ( .

69 ). :

BCABCDA CD A DCDA CD

A DCDBCABCD .    (2)
Ho,  BCF  ADE . .

A DBC .
 (2) 

CDABCD .
Ho, PEFCD=a a,

aABCD a .
Co  e .

 ABCD b,
b,  = .
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.

. 70

. a=15cm b=8cm =30°.
a  b.

.  ABCD , AB =15cm AD =8cm.
 DM . BAD=30°  ADM 

8cm ( . 70). a= DM =4cm
=15· 4=60 (cm2).

 P=b b, :

5,7
8
60

bb
(cm).

, a =4cm b =7,5cm.

1 , :
a) =10,4cm, a =6cm, ) =2,5cm, a=1dm.

2

6

3

7

5

 co a=8cm  P=32cm2.  ja 
.

 ABCD  36cm2,  36cm. 
.

 15cm,  8cm. 
 12cm ?

 71 .

 36cm2,  4cm 
 6cm. .

a=4cm b=5cm
=3cm. .

4

. 71
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. 73

8

9

10

 ABCD.  60°, 
.

 ABCD  ABMN 
 72 ,

NDMC .

a=6cm, b=4cm
 45°. 
.

. 72

IV.17. 

1.   3 :

1.
, . .

2
aa .

.  ABC ( . 73). 
 co c.

 B  C 
 co  AC 

,

ABC.
 ABC ,

.
Ho, PABEC= c· c ,  ABC, 

2
cc .

2
aa

2
bb .             (1)

Co . :

1. , ,
, ( . 74).

:
2
cc ,

:
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.

. 74 . 75

2. ,
,

, b :

 . 
( . 75). 

.

:

c
c
2

. ?

1 ,  ( )
( a) :
) =18cm,  =12cm, ) a=2,4dm,  =3dm, ) =8,6m,  =5m.

.

=
2

3 .

4
3

2
3

2
1

2
1 2aaaa , a co :

3.

4
32a .                      (2)

))()(( cba ,            (3)

2
cba .

 1.  ABC : =16cm, b=11cm =9cm.
.

.

18
2

36
2

91116
2

cba  (cm). 
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 ABC:
)918)(1118)(1618(18))()(( cba

7,47718736973697218
,  ABC  P 47,7cm2.

3. .

2.
, . .

               r.                                              (4)

.  ABC ( . 76). 
:

CABCABABC

,
2222

rrcbabrarcr .

. 76

 2. 
 ABC  L=20cm a 

 e  r=2cm.

.  (4) 20
2

220
2

rr cm2.

2  56cm2. ,
b=14cm.

3

4

5

6

, :
)  3 , ,
) ,  2 ,
)  6 ,  2 ?

.
 40,32cm2,

 5,6cm. .
 9cm,  6cm. 

 12cm. .
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.

.
, . .

ba
2

.

7

10

11

12

13

8

9

:
) , ) , .

 77 .

 79. 
.

-  ABC, 
.

 78 , ,
 ABCD .

 ABC, :
) = 8cm, b =15cm, =17cm; ) =7cm, b = 8 cm, = 9cm.

)   )

 ABC, .

. 77

. 78 . 79

IV. 18.  HA 
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. 80

.  ABCD , AB = CD =b
, a C =  ( . 80).  AC 

 ABC  CDA. 
ABC , CDA 

 CD, 
, :

,
2

a
ABC .

2
b

CDA ,
2

)(
22

baba
ABCD . . .

2
)( ba

ABCD

Co  e .
:

,

= ,
2

ba . ,

.
, . .

 = .

1

2

, a b :
) =14 cm, b=8 cm, =9 cm; ) a=2,5 dm,  b=9 cm = 1,5 dm.

 8,5cm  5,8cm,  42,9cm2.
.

3

4

5

6

 13cm,  5cm, 
 50cm2. .
,  142m  86m  42m, 

.  1  95kg .
?

87cm2. ,
 18cm  12cm.

b
.

 81. ?
,

? . 81
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.

. 84

7 ,
a =11cm, b =5cm

=45°.

,

 ( . 83).

,
 (a+b)

 ( . 82). 
9

8

 ABCD : )
, ) .

 ABCD ,
: ) , )

.

10

11

. 82

. 83

1.
, . .

212
1 dd .

IV. 19. 

.  ABCD , d1 d2 , a  ( . 84).
.

 AC  ABC  ACD. 

AC =d1, :

2
1 Bd

ABC 2
1 Dd

ACD ,

:

)(
222

111 DBdDdBd
ACDABC ,

212
1 dd .  Co .
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 . 
.

Ha :

?
. , d1=5,6cm d2=9,5cm.

. 6,26
2
20,53

2
5,96,5

2
1

21 dd (cm2).

1 d1=12cm d2=9cm.

3

2

4

5

6

 90cm2.  7,5cm, 
a.

, d1 =6,3cm 
d2=4,8cm.

,  7,9cm?

,
 7,6cm.

.
? ?

, d1 =l8cm d2=13cm.

 15,5cm, d1=25,4cm.
.

: 28cm  46cm. 
, , ,  35cm.

7

8

9

IV. 20. 

1.
: , , , , .

,
, .

.

 ( . 85).
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.

. 85

. 86

2. :

. -
, . .

        2
r

,      (1)

  ,  r-
.

. n- ,
.

,  ( . 86), 1
2 n , n

n- , a r- .
, n- :

2
rnan .

 L 
,

2
r . 

Co .
: n=3, 4, 6.

n=3, . .  ABC, 

6
3

3
ar

2
3

2
a

, .
4

3
6

3
2

3
2

2aaarr
      (2)

n=4, . . ,

2
ar aa 2

2
4

2
, 2

2
2 aaa                   (3)
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n=6, . . ,

a ,
2
3ar .

aa 3
2

6 ,  =
2
33

2
33

2

.

a
 6.

3. ,  (1) 
,

r.  (1) 
r.

=3,  (1) = r ,
. =4,

 ( , , ),
 (1).

3

2

1

4

 88. 
.

.

 87.

,  280m, 
 124m  86m. 

.

r=4cm.
.

. 87

. 88
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.

. 90

5

6

8

9

10

,
, =2cm.

,  12m  3,25m 
=8cm.

?

 89 a
2,5cm.  AC  AD. 

 ACD.

a, b .
.

 P=l2cm2  26cm. 
.

?

.

.

. 89

7

IV. 21. 

1. . .
, , a co 

. .
, ,

 ( )
( . 90)

,
,  ( )

. ,
,

, .
,

( . 90).
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2. ,
.

 L.
,

, . , :
 ( )    2r

.
.

 ( ),  „ “.
:

r2
.

:

r2 .

 ( )
,  L .

3. : ? .
, ,
.

 (287-212 . .)
.  Ludolf 

van Ceulen  1600 .  35 , ,
. , ,

.
:

=3,141 592 653 589 793 ...

3,14
7
22

,
,  ( 3,14159).
 1.  12,5cm. 
. L = 2 r  2· 3,14· 12,5 = 3,14· 25 = 78,5 (cm). ,

 L 78,5cm.
 2.  56cm. 

,  500 ?
. ,

. ,
 (56)  7,  22/7

3,14.   L= d = 17682256
7
22

 (cm). 
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.

,  176 m = 1,76m .
 500 , ,

1,76· 500=880m.
, ,

 L=2 r

2
r .

,

, :
1

 0,318. 

 3.  1m ,
?

.  L = 1m = 100cm, 

. :
1d 100· 0,318 = 31,8(cm).

2

6

3

7

1

5

, :
a) d=7cm, ) d=12,4cm, ) d=0,8m.

 1,4cm. 
: a) 1 , ) 1 ?

k  L=9,42dm. .

 8cm. ,
?

, :
a) r=4,5cm, ) r=1dm, ) r=3,2dm.

: a) 1 , ) 1 ,
) 1 , , 150000000

km,  365  6 ?

,
 40000 km?

d1=60cm d2=45cm
 ( . 91). 

 180 
1 , .

?

4

8

. 91
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. 94

9

10

 30 
 18 .  45 

,
 ( . 92)?

 1,2m 
 ( . 93). . 92

. 93

,  6,5m.

r.
) ?
) , . .

 90°?
) , . .

 60°?

11

IV.22. 

, . , ,
,

.
, ,

 ( ), ,
 ( ).

.
k( ,r)

 ( . 94). 
k. :

a
AM .

 (0° <  < 360°) 

AM , . . .
=360° ( )  = L = 2 r. 

=180° (  co , )

.
2

2
2

rr
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.

=90°
24

2
4

rr , .

, , . .  2, 3, 4,... 
 ( ) ,  2,3,4,...  ( )

.
,  = 180° = r, a a o AOM=l° = 180

r
.

, AOM= ° AM ,

.
180

=
r

AM = AOM= , ,
r, ,

:
.

180
r

=

 180 = r , :

r
180 r 180 .

:  (
), r ;

r,
 ( ).

 1.  12cm, 
=18°.

. Co r =12cm =18°
,

10
1214,3

180
181214,3

180
r

= 3,768  3,8 (cm) 

1  0,7m, 
:

) 30°, ) 45°, ) 84°24’.
 2.

=42°30' =11 m.
.  30’=0,5°, 

, : =42°30'=42,5°. :

8,14
5,42
790

5,4222
711180

5,42
11180180

7
22

r  (cm). 
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 3. r =15 m,
= 10cm.

. Co r = l5cm = 10 m

6,38120318,0
15

10180318,01801180
rr

r ,

. . 38,16° 38°9'36".

3

2

6

4

7

8

9

5

e r1=7 m
r2=5cm, =122°30'.

,  135° 
,  L=6,8cm?

 40°  6dm. 
.

, =4,71 dm,
 16dm.

 36° =2,5 m.
.

 6cm,  150°, .
?

 4cm  10cm. 
.

,
.

10 , :
a) 1°, ) 1’, ) 1”,  40003,423 km. 
(  1’,

).

IV.23. 

r. 
ABC,  MNPQRS,  12- 1 2 3... 12 ( . 95)

n- .
Co Ln n- , a co n

n- .
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.

1 : ) 3,5cm, ) 6cm, ) 1dm, ) 3,2m. 

. 95

2
rn .     (1)

n=3,4,5,...  (1) :

3

3 =
4

4 =
5

5 =…=
n

n = .
2
r    (2)

n ce ,
=1000, n-

„ “.
Ln  ( )

 2 r,
n  (

) ,
. ,

 1000- r, 
r, .

 (2)  ( )

e  L, :
2
r .

2

2
2

2
rrrr , . . 2r .                                                            (3)

:
.

 1. ,  4cm. 
. = r2=3,14· 42=3,14· 16=60,24 ( m2), . .

60,24 m2.

 2. , =30,8 m2.

. = r2 r ==
1 1 0,318. :

1,37944,98,30318,01r . , r 3, lcm.

2

3

:  a) 6 m, ) 2,2dm, ) 25m, ) 0,75m.

, :    a) L=5dm, ) L=15,7cm.
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. 96 . 97

6

4

7

8

5

r1=6cm r2=4cm. ,
: ) , ) .

, :
) 3 , ) 5 ?

r1=5,4cm r2=3cm .
, .

 6cm  8cm ,
. ?

r.
) ?
) , . .

 90°?
) ,  120°?

,
: ) 4 , ) 9 .

1. ,
( . 96).

2. ,
( . 97).

9

IV.24. 

:

1. ,  1° 
360

1

 ( ?). ,

360

2r , , ,
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.

2.
.

 co R,  - 
r, , :

22 rR , . . )( 22 rR ,                                               (3)

= (R–r)(R+r).

 2. ,

: R=9cm r=5,7cm.

. P= (R+r)(R–r) 3,14·(9+5,7)· (9 5,7)=3,14·14,7· 3,3=152,3214cm2.

: P l52,3cm2.

360

2r , . .
360

2r     (1)

, ,

180
r

, , :

2180360

2 rrr , , 180
r

,

2
r

, . .
2
r .  (2)

, :

.
.

.
, a .

 1. ,
=57°  6cm.

. Co r  (1) 
, :

.898,17
10

5714,3
360

573614,3
360

57614,3
360

22r

, 17,90cm2.
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3

1

2

6

4

7

8

9

5

 L=3,64dm, 
 75°.

, :
) r=3 m, =30°, ) r=4,5dm, =45°30'.

, :
a) r=5cm, =6,8cm, ) r=8 m, =8 m.

: a) 
2
1 , )

3
2 , )

4
3 , )

9
5

. ,
?

 7cm  64,2cm2.
.

. 98.

 99, AB = BC =CD =3cm.

 ABCD ( . 100). 

,
: ) 30°, ) 45°, ) 60°, ) 72°, ) 75°, ) 120°, ) 135°, ) 144°, ) 150°.

10

11

12

 101.

:
) R = 4,5cm, r = 3cm, ) R = 6cm, r = 2,5cm.

.
 ABC co a=6cm

 2cm  102. 
.

. 98

. 99

. 101 . 102. 100
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.

.
: .

.
:
, ,

, ,
 2008 , .

 (k)
 ( ): n1, 2,…, . , = 1+ 2+...+ . 1

n
n1 100%, 2 n

n2 100%,

. ,1001
1 n

np ,1002
2 n

np …, 100
n
np k

k .

1, 2, ..., .
,

,
1, 2,..., n1, n2, ...,n .

, . . .
, ,

 100%. ,
1, 2,..., :

100
360

11 p ,
100
360

22 p , …, 
100
360

kk p ,

a k ,
1, 2,..., . :

...21 100
360

1p
100
360

2p ...
100
360p kppp 360

100
360)...( 21 ,

1+ 2+... + =100.
 ( )

. :
 1.  2004-2008 .

: 2004-1530t, 2005-1850t, 2006-1960t, 2007-1950t, 2008-2200t. 
,

: 76,8mm; 92,5mm; 98mm; 97,5mm; 110mm, 
 20t ( . 103). .

 2. 
 2008 ,  31%,  27%,  22%. 

,
 20% .

p1=31, p2=27, 3=22 4=20 :
1 = 111,6°, 2 = 97,2°, 3 = 79,2°, 4 = 72°.

IV.25. 
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. 103
. 104

 ( . 104). 

, , a 
.

1

2

3

4

 1/3 ,  2/3 .
.

, .

 1990 : 69850t , 9115t , 17221t 
, 8123t , 4333t  5300t .

. ?

 1994  37500t , 180000t  2600t 
. .

 1965 : 568×106kWh ,
 1975  2,2· 109kWh ,  1985 

 3,5· 109kWh ,  1990 
5,7· 109kWh . .

?
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.

-IV

3

1

2

6

4

7

8

9

5

,
 60°, .

 AM k
 AC  BD. AC = BD .

,
.

,
 180°.

, .

r=3cm : ) , ) .

=3cm.

 6,5m . ,
 4m ?

:
) , ) ?

10

11

12

13

14

15

16

17

, :
)  3 , ?
) ,  2 ,
)  2 ?

,
 54cm2  12cm.

ABC,
: a=6cm, b=10cm  c=14cm.

 14cm,  280cm2.
.

 5cm  9cm 
 60°.

r =3,5cm .
.

,
=28,46cm2.

,  2,3dm?

18  5,2dm.
,  5000 ?
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. 105 . 106

19

20

21

22

23

24

25

, :
)  3 , )  5 ?

,  33° 
=34,54dm.

 8cm .
.

 15,5cm .
.

,
: ) 2 , ) 3 ?

 105.

 106, 
 ABCD  7cm.

-IV

3

1

2

6

4

7

8

9

5

, .

,
.

 3 ,
?

?

 7cm. ,
 3cm .

?

?

, .

, ,
, : ) 3,    6) 5, )17, ) 40 ?

10

11

12

a =2,5cm.

a=5cm b=2cm
=45°.

:  a) 4cm, ) 5cm, ) 1m.
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.

 {4, 5}  {5,4}  {4,5}={5,4}, 
.

,
 ( , , .). ,  ( )

 {4,5} 5
4

4
5 , ,

 45  54. ,
.

 ( ),
, . .

(a,b)=(c,d)  a=c b=d.
 (a, ).

: a b,  ( , b )  (b, a).
ap (a,b) , a b -

.
ap (a,b)

 (a,b), . 1.  ( )
 ( . 1) .  2 

 (b, )  ( , ).

. 1 . 2

.
 V

1. , ,  ,
,  ( , ).

V.1. 

V.1.1. 
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V.1.2. 

={1,2,3} ={ , b}.
 ( , ), .  (1,a), (1,b),

(2,a), (2,b), (3,a), (3,b) , :
={(1,a),(1,b),(2,a),(2,b),(3,a),(3,b)}

 A 
:

={1,2,3} ={ ,b}
:

- ,  3,
-  4, 
- ,

 5.

. = ,  
 2, .

2.  A 
, (  A ) ,

 ( , ), , . .
 = ( , )  .

3.  A2

. .
2 =  = ( , ) .

. 3 . 4
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.

  2,  ( 2),
 ( , ), , 2. :

( 2)={(x,x) x }.
. ={1,2,3},

2={1,1), (1,2), (1,3), (2,1), (2,2), (2,3), (3,1), (3,2), (3,3)},   ( 2)={(1,1), (2,2), (3,3)}. 
Ha  6 2.

. 5 . 6

1

2

3

4

5

: ={ ,b, } ={1,2,b, }.
. ?

={2,4,6}, ={3,5}. 
 .

={2,5,7,9}. 2

.
:

) ={(3,4), (3,6), (6,4), (6,6), (9,4), (9,6)},
) ={( , ), ( , ), ( , 3), (2, ), (2, ), (2,3)}.

,
 {3,5},  -  {0,2,4}.

Bo
.  ( )

, :  ( )
.

V.2. 
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1 Ha  x , :
3; 4

31 ;2; 5 
,

. Co , ,
.

,
. .

.

,
.

.
-  x,  - -

.
( . 7), a 

 (1596-1650).
,

( ).  7 , ,
.

,
.

.
,  -   ( . 8). 

 . 
.

.
,

.

. 7(1596-1650) . 8
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.

, , ,   ,
.

 - , .
,

  
. ,

.   , -
.

.
,

- .  8, 
=5 =2, (5,2).

. 9 
: (3;2), ( 5,3),

( 4, 1), (2, 4), (5,0), ( 3,0), 
(0,4)  (0, 2).

,

,
.

(0,0).

.. 9
2 , : ) ,                
) , ) , )

?
,

 ( 0, 0). , ,
: ( 4,3), ( 5, 2), (4,5; 4), (3; 3,5).

( 4,3) ( . 10) ,
1

= 4,
-  - 2

=3. 1

2
.

( 4,3) ( . 10). 
: ( 5; 2), (4,5; 4) 

(3; 3,5)  10. . 10
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: Co 
 ( )

, :
, .

3

6

8

9

10

7

4

5

?

:
          ) 1( 5,3), 2(4, 4), 3(2,5), 4( 2, 7),
          ) 1( 1, 4), 2(3, 1), 3( 8,4), 4(1,5)?

 BC  .
 ( 3, 3). .

, =3, !
, ?

, = 2, .
, ?

 BC, 
: ) (2,0), (6,3), (6, 3), ) ( 2,0), (4,0), ( 2, 3

12 )?
.

:   {( 2,0), (1, 3), (3,1), (0, 1), (2,4)}.

: (2,0), (0, 3), (0,0), ( 4,0), (0,1),
.

,
.

 BC  
 12.

. 11 . 12

12

11
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.

,
. . ,

. :
Ha  13 :

={ , , , }  4 
={ , , , , }  5 .

Co :
 ( ). , ,

, .
.  (

) ,  ( )
. , . ,

,
( ) .

 13, ,
.

, .

( ) .
. 13 ,

, .
. 13 

, , a 
. :  - 

: ( , ), ( , ), ( , ), ( , ), 
( , ), ( , ), ( , ), ( , ).

,
, . . .

.
.

:
 14 , :   

( ) .

?
?

V.3. .

. 13 . 14
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. 14 ,
; :

={( , ), ( , ), ( , )}.
,

.
( . 13) : „...  ...“  ( . 14) 

: „... ... “.
, :

. .  e ,    B.  ( , )     ,
:

   “ x y.
: , ,

, . Co , , .
 15 ,

={2,3,4} ={6,8,9}. : „
“. .

.
. ,

:
={ , , , , , , },

.
,

.
 16 

.
. 17.

. .
,

. 16

. 15
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.

. 17

1

2
3

Ha  18 
. :
) ?
) b ?
)  4   ?

) a ?
)

?

={1,2,3} ={ , q,r} !
={12,15,24,72,45} ={2,1,3,4,5,6,7,8,9}. Co 

:
a) a ,

) a ,
) d B.

. 18
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4

5

,
. 18, , . . .

={2,3,4,6,8,9} ,
, :

) > , ) , ) .

V.4. .

={ ,b, } ={1,2,3,4,5}.  19 
, .

,
.

( ).
 ( . 19) , b

 ( b ).
( . 19), , ,

 (
).

, :

,  B - 
. ,

, ,
, . : = (x).

, : a  19, :
( ) = 2, (b) = 4, (c) = 4.

:A B, ,
( ), a ( ) ,

. :

. ,  ( )
,

, : : ,
.

. 19
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.

 1.   , a ={1,2,3,4,5}
- .

, .
, .

 2. .
,  - .

, .
,

( ).

,  ( ) .
 3. N  ( )

={0,1}. x N  0 , ;  1 ,
.  :N . :

(1)=1,  (2)=0, (3)=1, (4)=0, (5)=1, .

.  „ “
.

 4. R , -
. x R

. ,
 R  :R , ( )

, R.
 5.  20 

 C ,  , , 1, 1,
.

( )
 C , . .

: C . : ( )= , ( )= , ( )= 1.
: :C

,
 ( = ),  (B= ) (x)= ( )

= . , :
, : ,

.
(x) x , . .

: , ,
( ).

( )={ (x) x }. ( )  B. , : . 19, 
( ) = {2,4}. 

. 20
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1

5

6

7

8

9

2

3

, ?

={ , }
={1,2}. ?

={ 2, 1,0,1,2} ={0,1,2}.
.

.
:

)
 ,

) a ,
) ?

, -
. .

?
, - .

k  - . ?
, ?

, -
.

.  ( ) ?

,  18, 
.

,  21, ?

. 21

4
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.

V.5. 

V.5.1. 

: ,
, .

.

 1. ={1, 2, 3, 4, 5} ={ , b, }.
,

. 22. :
.

: (l)=b, (2)=a, (3)=b, (4)=b (5)= .
, : . 22 

.

.
, , , . ,

 ( )
:

, .

.
:

, .
:

Bo ,
 , 

,

.

.

. 22
:
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V.5.2. 

 2.  ={ 2, 1,0,1,2,3}  B={0,1,2,3,4,5}.
.

: ,
, , . .

  ={( 2,0), ( 1,1), (0,2), (1,3), (2,4), (3,5)}.
,  ( ),

:
 ,  - 

, . .
0= ( 2),  1= ( 1),  2= (0),  3= (1),  4= (2),  5= (3).

ap ( , )

,  - 
,

( . 23).

( ) ,
 . : , ,

. 23.
: , .

, . . 24 ,
. 25 , x

y, .

. 23

. 24 . 25
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.

V.5.3. 

.
, : , ,

. Co ,
.  26 

, .
.

 ( ),
.

:
. , j

. , . .
, . , ,   ,

.
 ( )  ( )

,
.

 3. ={-2,-1, 0, 1, 2}. x
, y = 2-3. :

(-2)=1, (-1)= -2, (0)= -3, (1)= -2, (2)=1.
= (

.
.

.

. 26
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, y= ( ),
R ( ) ; ,
a . ,
=

2
5

x
, ,

,
 ( (x)) ,

.
2

5
x2.

1

2

3

n .
.

: 5- ,
9- ?  150 ? 

n ?

:

 27. ,
:

: 500m, 3000m? 
: 674 mm H , 405 mm H ? 

?

,
?

. 27 . 28
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.

5

6

7

8

 29 .   ( . 29 )
=[2, 7] =[2, 5],  K  ( . 29 )

=[0, 8]  =[1, 6]. ?
= 5.

= 2.
=7?

 30. 
.

 30  ( ) : B. Co 
:B .

.

. 28 :[ 2,8] R.
: (0), (2), (6). :

) ( )=0, ) ( )>0, ) ( ) 0?

4

. 29

. 30

a) )

V.6. .

, a b ce
. , :

- ?
- ?
- ?
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,
, a b

.
, , ,

, . .
a b.

a>b, a:b
;

a b, a:b
.

a  b  c e , : a   , a b   
.

.
 ( ) ,

.
, : 7:4; 3:5, 

. , :

,
. :

, ,
. :

;4:56
3
2:6

6
5

3
2:

6
5 .

1 .  a:b
:

„ “.

 3.  :   : , 
, .

2.
.

,
( ) ,  0

1

2
? .

?
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.

, 7:4  4:7 .
:

1 .
.

. a:b.
:

, :b .
2 .  1.

. , 1
5
7

7
5 .

?
Co

, . ,
 7  2 ,  7:2.

,
, .  1:100 

 100 
.

4

5

6

7

8

9

3

:
) , ) ,
) ?

:
) , ) , ) .

:
)  750  2 , ) 8 cm  3 m,
) 2  15 , )  5 ?

, :
) 0,8:0,3; ) 0,7:2; ) 5:0,2; ) .

:
) 12:15, ) 2 :4, ) .

100  80  .
.
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:
) 12:3 = 40:10, ) 5:2 = :3, ) = 6:3. 

: , ,
: , , .

,
. :  = :

, , .
2 :
1 .

.
.

. .
bd, :

bd
d
cbd

b , ad = bc.
. Kaj  21:7=6:2  7 6=21 2.

, :
2 .

, .
.

. a,b,c  d ,
ad=bc. ad=bc bd (

, ),

10

1

 a  800 ,
 50 .

?
 ( ):

)  18:6, )  9:3, )  20:5, )  10: , )  3:1?
11

V.7. .

1 , , .
, ,  21:7=3  18:6=3.

,  21:7=18:6. .
:

 21:7= 18:6 : „21  7  18  6“.

. .
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.

3 .
7 .

. ad=bc, :
1) a:b=c:d, 2) a:c=b:d, 3) d:b=c:a, 4) d:c=b:a,
5) b:a=d:c, 6) c:d=a:b, 7) b:d=a:c, 8) c:a=d:b,

ad=bc.
 3, 5, 6  10  3 10=5 6

o .
4 .  ( ),

,  ( )
.

. a:b=c:d, k 0
: (ak):(bk)=c d, a:b=(ck):(dk), (ak):b=(ck):d, a:(bk)=c (dk)

(ak):(bk)=(ck):(dk). ,
.

:
,

, .

3 ,
. ,

, . , ,
, .
 1. :6 = .
.

, = .
 2.  12:( +1)=3:4.
.  3 ( +1)=12 4,

+1=16, =15.

, . . , ad = bc.

.  2, 3, 6  9 ,  2 9=3 6.
:

   2:3 = 6:9;   3:9 = 2:6  .

3

2

.
.

4 :
) 15:3   25:5, ) 15:10  12:8, )  5:30  12:38, ) 5

31:5
2

3
11:1 ?
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5

6

7

8

9

10

11

,
?

: ) 5,10,15  30,
) 8, 12, 16  24, ) 3, 5, 9  15, ) 2, 4, 7  14, ) 3, 5, 6  7.

 75:15=0,5:0,1. ,
 5, 

 10?
:

) , ) ?
:

) :9=5:15, ) 6:  = 14: 3
2 , ) 0,3:0,4= :2, ) 4:5=1,2: .

 9:500. 
 120 ?

:
 (2) 

.

 8 ,
 3:4. 

?
 2, 6  18 .12

V.8. 

.

. . . ,                                       (1)
:          

          (2)                                      

: a1:a2:a3:...:an = b1:b2:b3:...:bn. (3)
 (2)  (3) 

, : „ a1,a2,a3,...,an ,
b1,b2,b3,...,bn“.

:

.  (1), :
   a1=kb1,    a2=kb2,   a3=kb3, ..., an=kbn .
Co , :

a]+a2+a3+...+an = k(b]+b2+b3+...+bn) ,
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.

:
.

.
 1.  =26 cm.

,  3:4:6. 
. ,

+b+  = 26 :b: =3:4:6.
: , , =3k, b=4k

=6k, a+b+c = 3k+4k+6k= 13k. , a+b+c = 26,  13k=26, k=2.
:  = 3k = 6, b= 4k = 8 = 6a = 12.

, : =6 m, b=8cm
=12cm.

 2.  ,     688 .
,     

 5:6,     -  4:7.
.  ,    

, z. , , : :y=5:6, y:z=4:7
+ +z=688.

,
 ( y  6, 

 -  4). 
 6  4, . .  12. 

 2,  -  3, 
: =10:12 y z=12:21. x:y:z=10:12:21,

. . .
, :    

,

=10 16 = 160, =12 16=192 z = 21 16=336.
: + +z=160+192+336=688.

:
a) a:b=8:5, b:c=5:3 c:d=3:2, ) :y = 2:5, y:z= 5:6 z: = 3:5.

1

2

3

, :
)  2:3:4, )  3:4:5.

 370 ,  3, 2  5.
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4
5

6

,  2:5:4:7.
 4080 .

,  600 ,  800, 
 400, a o 120 ?

 1080 , :
) 2:4:6, ) .

V.9.

,
, .

. ,
.

, .
,

. ,
.

,
, . ,

 a, 
 ( ). ,

.
, .

,
. ,

,
,

.
,  e .

.
. ,

,
, :

,
, ,

, , .
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.

V.10. 

, .
. ,

.
. ,

, , .
.

. . , , ,
. :  - 140 cm, 

-135 cm,  -138 cm,  -143 cm  -  150 cm. 
.

,
, , .

,
,

. ,
.

. 104 , , , , ,
.

 1. 

.
 10 ,

 45 .

.

1
2

3

?
 100 .

.
,
 ( , , , ).

?

66
170 170
149 133 42
150 223 87 129
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 2.  26 

.

 ( ) ,
 2 .

.
,  2 ,

 4 ,  6 .

 ( . 31). 
.

,
.

.

. 31

 ( ),  ( ),  ( ),  ( )  ( ).
,

, .

1

2

3

4

 ( , )
:  2000  - 746000,  2001 .- 690000,  2002 

. - 715000,  2003 . – 739000,  2004 . – 751000,  2005 . – 760000, 
2006 . 747000,  2007 . – 761000,  2008 . 757000. 

.
,

: ) - ,                       
) , )

.
 12  2008 

. ,
 2008 

.
:

) 4 9=6 6, ) 8 8=4 16.
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.

1 :
) 6  9, ) 4 , 5  7 , 5 ,  ) 0,8  2,4.

1  Bo  .
,

. :
 ( ):

a 1, 2, 3,..., n ,
. .

.

, , :

2 ,
.

, :  ( )
 ( ).

.
a:b=b:c, ,

. , ,  4:6=6:9.
a:b=b:c

.
Co ,

b2=ac, b = .
, :

,  2  18 
 = = 6.

V.11. 

1.
, . . .

2.
, . .  = .
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2

3

4

:
) 1  9, ) 7  5, ) 17,4  32,6, ) .

:
) 1  16, ) 2  8, ) , ) , ) 0,2  1,8.

: 4,5 ,
2 ,  6,8 ,  9,2 ,  12 ,  17,3 ,  23,5 ,  20 ,

 14,5 ,  12,3 ,  5,7  -0,8 .
.

,
, ,

. , ,
,

, ,
.

  . ,
.

1
.

o , , ,
 ( )  ( )

1 , , . . r= n – 1.
,  ( ):

                                            2,2,3, 4 ,5,6,6,7,7,7,8 (1)
r=8 2=6, :

                                0,3; 0,8; 1,5; 3,2; 4; 5,3; 5,3; 7,7 (2)
r = 7,7 0,3=7,4.

2 ,
, , : ( ) ( e).

, .

V.12. . .
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.

3        
.

,
(1) r=6 a11 =8.   ja 

. , =

,  (1)  2  6 ,
 7 . ,  (1)  7.

,  (1)  7, . . =7.
 (2), , =5,3.

, ,
.

.

(n=2k+1), +1, ,
+1, . . = +1. , ,

( =2k), +1. ,
, , . .

 = .
,  (1)  11 . , . .

= 6 =6.  (2)  8 ,
e = .

,
( , ) .

.
, .

 (
), .  (
) .

.
 ( ),

, .
, .

. ,
 4, 

 4.  3,5? 
 3,5? ?
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1

2

3

, :
)  4,6,6,7,8,8,8,12, )  3, , ,8,9,9,11.

 12 
, :

, .

) ,
,

) ,
,

)
.

.
:

:
) , ) , ) ?

4

V.13. 

V. 13.1. 

1 :
 1. 

 8 m. .
. :
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.

1 : ,

,
.

,  8m , =8 ,
0. ,

.
=8 , 0 .

 2. .   
,  5 ?

.  5 ,  =5n .
 . ,

=5n, .
=k ,

, a k  .

k ,
.

, . =8
=R+ >0, ,  =5n N.

2 =k 0 . :

, y= k .

, :

y k, .
k, (k 0) = 0  = 0,

: .

. ,
= x, , .
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= .

2

3

4

5

6

7

8

:
0,5. .

  
, .

  r.
, ?

r. 
?

 12 m .
 m . ,

, ?
d ,

k?

, k?

V.13.2. 

 =5 .
, : = 1=4

= 2=7. , , : = 1 =20  = 2 =35.
. :

= = .

, .
, 3=8 4=12.

: 3=40 4=60.
= = = 40

60 = . :

: ( 1, 1), ( 2, 2)
, x2 0 2 0,
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.

.  = k , k 0.  = 1 , 1= k 1, = 2 2= k 2.
, :

= = .

, , .
,

, :
,

.

, :
.  0,5  4 .

 10 ?
.  10  .

,
:  =10:4.

, 4x = 10 =5,  (  ).

1

2

3

4

5

6

7

 4  30 .
 7 ?

12 m  1 . ,
2,5 m?
T ,  100 ,  (

)  256 . ,
 750 ?

 80  2 .  380 
?

 2 m  0,8 m. ,
 5,6 m?

 334 m .
1670 m?

 6  5 a.  8 
?
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V.13.3. 

,
 = .

,
, .

.

,
 ( . 32). ,

. :

 ( . 33).

,  = x, 0,
.

. 32 . 33
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.

,
.

.
 34 

: =2 , = 3 = 0,8x. ,
k

- .
,

.

. 34
1

: ) = 2 , ) =3 .

3

6

5

2

4

=0,3 . Co 
, :

) , ) .

 4,5 cm, cm.
 cm2 .

y .
) ,  13,5cm?
)  9cm?

 cm cm  15cm2.
Bo :
) ,
) ,

 2 ?

: (4, 2), ( ,1), (1,1), (0,0), (1, )
: )  = , ) =3 .

= . Co , :
) =6,
) 2?

.
:

) (2), (4), (6),
)  [2,4] - - ?,
) (x) = 2?

7
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V.14. 

V. 14.1. 

1  B. ,
 B, 

.
, ,  B  60m, -

(  m ), -  ( ),
= 60 . : =5,  = 12;  =10, =6,

 e =20, =3.
:  120 .

 ( ): 2 , 3 , 4 
?

: 2 ; 3 
, a 4 .

,
n, . . = . =

.

= , 0 , k .

k ,
.

,
,

, .
e  >0, =

.
2.  =  = k. : =k,

= . , : ,

. ,
= , k ,

.
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.

k, .
k 0, . , : b

, ap (a,b), a b = k = 120.

1

4

5

3

2

: x y . : x y
.

?
:

) ?
) ,

?
) ,

?

: x y .
, , k , a 

.

 = . :

) )
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6

7

,
.

?

k=6. , { 6, 3, 2, 1,1,2,3,6}.

V. 14.2. 

, = 60 -

 B. 1 =5 2=6
, a 1=

60
1

= 12 2=
60

2
 =10 .

:

,  a .

, 1: 2

1: 2, . . :
.

.  :
: ( 1,y1), ( 2, 2)

, .

.  = 1 = , 2 = , y1  0, y2  0. 

, , :
,

,
, .

:
.  6 

 20 . ,
 8 ?
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.

V.14.3. 

y= . , ,
, .

.

.  8 , .

,
:20=6:8.

 8 =20 6,  =120:8=15 ( ). ,
15 .

, ,
,

.

1

2

3

4

5

6

 10  35 m .
,  50 m ?

Co  9  28 . Co 
 12 ?

 4  45 .
 3 ?

 6  15 .
,

 5 ?
 36  80 .

 24 ,
?

 3  10 .
 5 ?
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,  ( , )
( . 35). 

,
 ( . 35 ).

 ( . 36).

,
.

,

, =0 ,

 ( ) . ,
 0. 

,

.
, k 0,

, :
.
. 37.

,
,

, .
,

, k 0,
, a 

.

1212

. 35

. 36

. 37

) )
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.

, ,
.

:
,   , a 

,
.

.  „
“

. , .
.

.
 1. e e  4 a  68 .

 15 a . ?
. :

.
,

.

1

2

3

4

. Co :
) (1), (2), (4),
) 6?

.
:

) , ) ?
:

) , ) , ) ?

: (l), ( 2), (0,25).

V.15. 



194

,
 4:15=68: , :

( ). :

,  15 a  255 .
,

, , , ; ,
.

, .
 2.  92 m 

140 cm. ,
 80 cm?

. :
, . ,

, . .
:92=140:80,  = = 161 (m).

:

,  161m  80cm.

          4 a          68  
     15 a

x : 68 = 15:4;   ( )

     92 m      140 cm 
m   80 cm 
:92 = 140:80; = = 161 (m)

1  50  21 .
 142 ?

2

4

5

3

 15  120 .
3,5 ?

 9   24 .
 1200  ?
 136  414 .  272 .
?

 100 m  8 .
 325 m?
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.

7

8

9

1

2

4

5

8

9

10

3

6

Co  30 ,  8 .
, o 10 ?

 100  18 .
 635 ?

 135  40 .
 36 . ?

, ( ,b) :
) , ) , ) .

={1,3,4} ={2,4,5}.
: ) , ) , ) 2, ) 2.

 ( , )
2 3  1 5.

, :
) ( 1,7) = (2  + 3,7), ) (5,5 ) = (5, 2).

 BC : (2,3), (5,1), (8,6),
1B1 1, - .

1 1 1.
1, (5,2)

    .
 [ 5,7] .

? .
: ) :5 = 4, ) :  =1, ) 6: =2, ) 4,5: = .

={9,10,11,12,13,14,15,16,17}. 
 5. 

r.  r(9), r(10), r(l1). r .

, :
)  3, ) 2,
) , ) ?

 45  6 .
 60 ?

 - V

6

7

,  1: 
) 3:18, ) 2:15, ) 8:1000, ) 4:50, ) 25:600.

 8 cm.
 1:25000?

, : ) 3:4:6, ) 2:4:8?

11

12

13

16  18 .
,  12 ?

,  5 :
) 1, ) 2, ) 3, ) 4.

14

15
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 2, .

, ,  5
,  3 .  75 ,

?

 3, 
 4?

 5:18. 
,  6370 m.

 24  2  24 .  2 
 6 ?

 13 a  31 b .
1 ?

,  36. ?

 0,42 a  147 . , ,  1 a?

:

a) a b=(a+k) (b+k), ) , k  0, ) , k  0?

10

12

11

19

24

20

21

22

16

18

23

17

1

2

3

4

5

6

8

9

7

, :
) , ) ?

, :
( 2;5), (3, 1), ( 1, 1), ( 7, 1), (0,2), (4,5; 3).

(3,7).
: ) , ) , ) .

( 3, 4) (1,4).
.

: 2; 3,5; 7; 8; 7; 4; 3,5; 7; 5. ,
, .

:
) , ) , ) ?

 30 ,  5 .
.

: k=3.
.

 54 m. 
 1:500000?

k=6. :

:
) 5 9 = 3 15, ) 12 5 = 15 4, ) .

: ) 3:4, ) .

 - V
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2. . 3. . 4. . 5. ), ) . 8. ), )
. 9. ) , ) , , .

1. ), ) . 2. ), ) , ) , ), ) , ) . 3. ), ) . 4. ), ), ) , ), ) . 6.
. 8. ) ). 9. . =  = .  B 

 B , . . =
. 11. . = .

4. a) , ) , ) , ) , ) . 5. ) = + , ) = + , ) = . 7.
= + = , = + = , = + + + = + . 9. = +  =

.

5. = , , , . 6. ) +( + ) = + =
, ) ( ) ( )= = + = , ) ( )+(

) ( + ) = + +  = ( )+(
)+ = + + =3 .7. a) , ) , )  , ) , )  . 8.

 1. = = = = =
= = ( ). 9. . ) + = = , )

+ + =( + )+( )= + = .

3. : ) k>0, ) k 0, )k=1, )k= 1. 4. a) k =l, ) k >1, ) k 1. 6. ) , ) , ) . 7.
, , . 8. , , . 9. .

, + . 10. .
+ + = . + + = + +  = 

( + + ) = = .

3. ), ) , ) . 4. ) = + , ) = + + , ) = + + + .

3. . 5. . 6. ) , ) . 7. p p
. 8. ) , , ) . 9. ), ) . 10. .

2. . 3. a) , , ) , , , . 4. a) He , ), ) . 5. . 6. ), ) . 8.
= . 9. ), ) .

.1. . 7

.3. . 11

.4. . 15

.5. . 17

.6. . 19

.7. . 21

.8. . 22

.2. . 9

.   I

. 1



198

2. . 3. 1 b1. 4.
. 5. . 6.

. , p  p. 9. 2 . 10. . .

2. . 3. ,
. 4. . 5. . 6. . 7.

k1( 1,r). 8. , . 9. . 10. + + + = = . 11. 
.

1. . 1 q . 2. .
 1. 3. . e

 .10. 

2. )q r , )  q r , )  q r . 3. . 4. ), ) , ) . 5. ), ) . 6. .
7. ) , , , , , ) , , , . 8. . ( + )+ = +

=  = . 10. : ) k=2, ) k=1. 11. . 12. : ) k>2, ) k 2. 13. .
 C. 14. ) He , ) . 15.

. 16. . . 17.
: ) , ) . 18. . )
, . . , ) + . 19. .

. , , , : = , = , = .

: + + = + + + ( + + )= .

.9. . 25

  . 29

.10. . 27

 -  - . 28

1. ) 16, )-125. 2. ) 16  32, ) 625  625, ) -243  243, ) -1  1. 3. 4 7  74, ) 3b b3, ) 5+c 3. 4. ) 31, )
-24. 5. ), ), ) He. 6. . 7. -1, ,- ,0,1,243. 8. .

1. 3 105 m . 2. 3,84 108m=3,84 1010cm. 3. 3.1536 107 . 4. 1,35 1010 . 5. . 6. 106.

1. ), ), ) . 2. ), ) . 3. ) 1, ) 1, ) 10. 4. 34.

1. ) a10, )  x6, ) yn+1, ) cn+1. 2. ) a3, ) 44, ) 2. 3. ) 28, ) (-5)5, ) a6,  xn+6. 4. ) 311, ) 46, ) a15. 5. ) a4 a5, )
a5 a4, ) a a8, ) a7 a2, ) a6 a3. 6. ) =8, ) =4, ) x=9. 7. ) 27, ) , ) (-5)2, ) 15. 8. ) a25:a10, ) a20:a5,
) a22:a7. 9. ) a7, ) a, ) a5. 10. ) a7, ) m+n-4 . 11. ) , ) , 1, . 12. a ) 8a3, ) 81a4b4, ) .

.1.1. . 32

.1.2. . 34

.1.3. . 35

.2.1. . 37

.   II
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1. ) 0, ) 25,04, ) 0,681818... 3. a b. 4. ) , ) 25 5 15 ( 5). 5. ) 2,183, ) 0, ) 0,4. 6. )
2 2 2, ) 2:2+2, ) 2 2+2, ) 2 2 2.

1. ) 125a3, ) 81a4, ) 3, ) 625 4y4. 2. ) 900, ) 1, ) 32. 3. ) , ) , ) . 4.  1296, ) 1000, ) 243. 5.
) 6, ) 20, ) y8. 6. a) 125a3b3, ) 16x4y4, ) 5x5y5. 7. ) 124, ) (3a) 3, ) (2ab)5, ) ( 10a2b2)3. 8. a) 0,0001, )

1000000,  )   0,03125. 9. a) , ) , ) 0,12005. 10. ) , ) , ) . 11. ) 6, ) 7, ) x20,
) 14, ) x2. 12. ) 930, ) 2720, ) 8115, ) 24312.

1. ) 1,41, ) 1,73, ) 2,23, ) 2,44, ) 2,82, ) 3,16. 2. ) 8,83, ) 2,91, ) 2,78. 4. ) 5,47, ) 10,344, ) 2,74, )
3,53. 5. ) , ) , ) . 6. ) , ) .

1. a) 2,828cm, ) 3,46cm, ) 4,47cm. 2. a) 1,414, ) 1,732, ) 2,236. 4. ) 3,31  -3,31, ) 4  -4. 5. ) 2,828 
-2,828, ) 3  -3, ) 3,74  -3,74. 6. . .

, a , a2  5 a  5. 7.
.

1. , , . 2. ) 1,41 , ) 1,5> . 3. =1,1666... =1,4 =1,732050... 4. )-3,814243...  -3,814235..., 

) -3,814243... 5. 0,33333...; 0,0333..., ) 0,03003000300003... 6. .

2. . 3. ) , ) . 4. ) , ) .

1. ) 216, ) -216, ) 1, ) -1, ) , ) , ) -81, ) -49. 2. ) , ) . 3. ) , ) .
4. . 5. ) 256, ) 3n+4, ) n+3. 6. ) n=8, ) =4, ) n=4. 7. ) (a2)10, ) (a5)4, ) (a10)2. 8. )
=2, ) =3, ) n=8. 9. ) (1,6),(2,3),(3,2)  (6,1), ) (1,5),(2,4),(3,3),(4,2)  (5,1). 10. ) 7  8, ) 10  11, ) 12 

13. 11. ) n {1,2,3,4}, ) n=2, ) n {1,2,3,4}. 12. a) 10,944, ) -7,401. 13. ) , ) . 14. ) 24, ) 12.

1. ) 1, ) 256. 2. a) 9, ) 9, ) 0,25. 3. ) 9a4b4, ) -7,59375a25b20, ) 16a4. 4. ) 8, ) 7, ) 9. 5. 512. 6. 1000000. 7.
) , ) 0,5. 8. ) 15, ) 1. 9. 109. 10. 106. 11. 5,9.  12. 81.

1. ) 6 6, ) (-7) (-7), ) , ) , ) (-0,8) (-0,8). 2. ) 72, ) (-3)2, ) , ) 12, ) 02. 4. He. 5. a) 81, 

81,1,1,100,4. 6. a) 128, ) . 7. ) , ) . 8. ) 1  -1, ) 2  -2, ) 5  -5, ) 3  -3, ) 7  -7.

.1.1. . 58

.2.2. . 39

.4. . 43

.5. . 45

.6. . 52

.7. . 53

 - - . 54

 -  - . 54

.3.1. . 40

  III
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1. ) 36,15,0, 9, -12. 2. 5, , 5, .  1   1. 4. )
3, ) 4, ) 0. 6. ) =6, ) = 2, ) =0, ) =6. 7. a) { x R, x 3}, ) {a a R, a 4}, ) R, ) R, ) R.

8. a) (0,0), ) (1,2), ) (0,1).

1. a) 12x3 ( 12 ), ) 14a2bc (14 ), ) 0,4a3bx (0,4 ). 4.
) 6 , a4b2 , ) 5 , 3 , ) 1 ,
a2b3 , ) 1 , 4 . 5. ) 3 2 2 2 2, ) 3 2 , ) 3 2 . 6.

) ), ), ) ). 7. ) ); ) ); ) ).

1. ) 3 3+ 2+6 +7, ) 5ab2+b3+3a2b 6a2+4a. 4. ) a5-4a4-2a3+3a2+2ab-6, ) 3x4-15x3+5,2x2-l, ) 9 + 5. 5. )
1000a+100b+10c+d, ) 100x+10y+z, ) 10a+b, ) 10b+a. 6. ) R, ) , R, ) , R. 7. ) 325, ) 476. 8. (-
3)=21, (-2)=10, (0)=0, (1)=1, (-3)=-21, (-2)=-10, (0)=0, ( 1 )=-1, (-3)=-21, (-2)=-10, (0)=0, (1)=-1.

1. ) n- , , (n+3)- o , ) o , n- o b, (n+2)-
b, ) , ) o , o b, o o

a, b . 2. ) 6- , ) , ) , o o ,
) , ) , , o , ) o , o b,

o o a, b . 3. 5 3, 5 2 2 5 3. 4. 9 3y4 ,  -y3

. 5. ) - 4y2-3x2y+4 +3y3-1, ) -5 2 4+6 x3+3x2- +1. 6. a) -2 5+5 4y2+ 3 +4 2 3 3 4+4 4 1, ) (4-3 )
y4+4 2y3+5 4y2+ 3y-2 5-1, ) 5 4y2+4 2y3-3xy4-2 5+ 3y+4y4-1.

1. a) 11ab, ) a2b2+5a2b 3ab2+4ab+6a+2b. 2. a) 6a2 b, ) 9a2b+2ab2. 3. a) 2a2b+4ab2+2ab, ) 2b2+6 2 -
3 b2+4 b +2 2. 4. a) 8xy2, ) 3xy2 4x2y, ) 3xy2+x. 5. a) -2 2, ) 7 2 . 6. a) 6ab2+(-6ab2)=0, -4ab+4ab=0. 7. B(
2)=C(-2)=2l, B(-1)=C(-1)=10, B(0)=C(0)=5, B(3)=C(3)=26, (-2)=-B(-2)=-21, (-l)=-B(-l)=-10, (0)=-B(0)=-5, 

(3)=-B(3)=-26.

1. 2 3+4 2 -3 +3 +5. 2. 11 2-10 2 +3 - . 4. a) a2+3ab+3a b, ) 4+ 3-3 2+3 . 5. a) (4ab2 2a2b+ab)+(-
3a2b+ab 5a 1), ) (6x5-4x4+x2-l)+(-x4-3x3-2x-l). 6. a) x5, ) 6, ) 8, ) 6.7. a) 15 3b3, ) 8a4x3, ) -3 2b 3.

1. ) -6 3y2, ) 20 2 , ) 72a4x4. 2. ) -2 , ) 3 , ) 2. 3. a5, ) 15 3b2, ) -10a4b2c, ) -2ax5y2. 4. ) 6a5b2c2, )
28a3b4x, ) 10 b2. 5. ) -3 2 , ) 3 , ) -9 3, ) 3 3. 6. ) -12,5 , ) 3 , ) . 7. ) -9 2:y2, ) 2,5 2c2:(b2x), )

, ) . 9. ) 6 , ) 8, ) y8.

1. a) -5x3+4x2-x+l, ) 7 -2 2+5 -9. 2. a) a a +1, ) -2 -2. 3. a) x2 y2+x+y+4, ) 3+a2. 4. a) , ) 1, ) -3. 5.
 2 . 6. ) , ) . 7. a) =(10a+b)+(10b+a)=11a+11b =11(a+b),

) =(10a+b) (10b+a)=9a 9b=9(a b). 8. =2x3-(-3x2-x+5). 9. a) ( 2+2 )+(2 +1), ) ( 2-2 )+( -2). 10. a)
( 2+7 )-( +2), ) ( 2+2 )-( +4).

.1.2. . 60

.2. . 62

.3. . 64

.4. . 65

.5. . 66

.7. . 69

.8. . 71

.6. . 68
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1. ) 4a4b6, ) -125 3b6, ) 16 6 2, ) 3b3, ) 5x10y5. 2. ) 8 3 3y3, ) 5,7 4 2y2, ) 125 6, ) 81 8y4.3.
. 4. (5+3+1) 4=9 4=36; (5+3+1) 4=5 4+3 4+1 4=20+12+4=36.

1. ) 6 3-8 2+10 , ) -18 5+30 4-18 3+12 2-24 , ) 8a4b 2a2b2+2ab3. 2. ) 12a2x2-20abx2, ) -14a2b4+6a3b3-8a2b3.
3. ) 10a2-19ab-20b2-2a+6b, ) -56 2-10 2-6 +56y2, ) -55 +40 -106. 4. )  -4y2+12
, )  -6a2-6a . 5. ) 5, ) -9, ) 4, ) 9.

1. ) 2a2-16ab+15b2, ) 6 3-8 2+5 -3, ) 14 2 -7 2y2-10 2y+13 2-4 3. 2. ) -8a2+17a-ll, ) 17 3+2 2-19 -1. 3. )
4 2 -1, ) 6 2+ -2, ) 6 2+7 +2, ) 12 3+8 2-3 -2, ) -12 3-8 2+3 +2. 4. ) 2+4 y-2, ) 9 2 , ) 2 2+5 y+2y2-6x2y-
3xy2, ) 3 2 3 2 + +2 . 5. 15b-3a-45. =30, b=38  435.

1. ) a2+8a+16, ) 49-14 + 2, ) 9-6 + 2, ) 2+2 +1. 2. ) 4 +8, ) -16 2-12 +5y2, ) -15 2+27 y+5y2. 3. ) 4 -2,
) 2-2 + 2-4. 5. ) 1681, ) 529, ) 10201, ) 9801, ) 4624. 6. (a+b+c)2=a2+b2+c2+2ab+2ac+2bc. 7. y2-5y+6.

8. . 9. ) (48-18):6=30:6=5, 48:6-18:6=8-3=5, )
(63+21):7= 84:7=12; 63:7+21:7=9+3=12.

1. 6ab2x 4a2+2b. 2. a) 4x3-3x2+7x-l, ) -2a3+3 2 5a+1. 3. a) 2y 3+5x2y2, ) -0,25 5y2+0,4 2 -1,5 y2+0,5, )
18a2b2+2b+2, 4ab3 0,2. 4. 4a2+2a-3, ) -7 x+9a2. 6. a) 423, ) 232. 

1. a) x2 x+1, ) 3x3-2x2+x-l. 2.  e 2x+3, a  e x-5. 3. a) 2x+4y, ) 4a+3. 4. a) -2x2 x+1, ) 7a
2b, 5. a)  e 5x+2, a  e 8, )  e 0,5a2-0,25a+2,625, a  e -3,625a+l1,875.
6. a) , ) . 7.  99. 8. ) 3 , ) 5 +2. 9.

 12 2-18 +1.

1. ) 4 (2b+3 ), ) 2 ( -3), ) 2( -y). 2. ) 0 , ) 0, 2  -2. 3. ) 3( -1), ) a(2a b), ) 2( -1), ) 3 ( -3 ), )
(5b-2), ) 3 (4 5 ), ) 2( ). 4. a) ( 5), ) 6 2y(2 -3+y+5 2), ) 2 2 (3 2 -4 2+8 ). 5. a) (a+c)(b c), )

(x y)(a+b), ) ( 3)( 2). 6. a) , ) , ) . 7. ) 386-385=385 37, ) 349+348=348 35. 8. ) 0 , ) -1 

3, ) -4 , ) 1  5. 9. ) 9 2-y2, ) 2- 2. 10. ) (4 2 )2, ) (5 y3)2, ) (2 )2.

1. : ) ); : ) ). 2. a) {( , ) x,y R,x y}, )
{ x R,x 0}, ) { x R,x 3}. 4. ) , ) , ) .

1. ) 2-9y2, ) 4-1, ) 25-9 2. 2. ) 1-9 2, ) 2 2-1. 3. ) a4-b4, ) 27a-b2. 4. 2. 5. ) a4-16, ) 3-25 , ) 81- 4. 6.
) 1002-32=9991, ) 2002-1=39999, ) 1-0,052=0,9975, ) 602-32=3591. 7.

9 m2. 8. ) a2+2ab+b2, ) 4a2 4ab+b2, ) 9x2+12xy+4y2.

.9. . 72

.10. . 73

.11. . 74

.12.2. . 77

.13. . 79

.14. . 81

.16.1. . 85

.15. . 82

.12.1. . 76
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1. ) ( )( + ), ) ( -1)(a+1), ) (3 5)(3 +5). 2. ) (3xy-1)(3 +1), ) (a 4bc)(a+4bc), ) (7 -6y)(7 +6y). 3. a)
(10-3a)(10+3a), )(5x )(5 + ), ) ( - )( + ). 4. ) ( -1)( y+1), ) (1-3 )(1+ ), ) 8 . 5. ) 5( -2 )
( +2 ), ) 2y2( )( +y), ) 5 ( )( + ). 6. ) 2( y)( + ), ) a4(1-b)(1+b), ) 3 (3b )(3b+ ). 7. ) 3( -1)( +1),

) 3(a b)(a+b), ) 2 (2 -1)(2 +1). 8. ) 1060, ) 12400, ) . 9. ) 11  -11, ) 0  3. 10. ) , ) , )
-1- . 11. ) (n+11)2-n2=11(2n+11), ) (4n+7)2-1=(4n+6)(4n+8)=8(n+2)(2n+3).

1. a) ( -4)2, ) (1+5 )2, ) ( -1)2. 2. ) ( +2)2, ) (a b)2, ) (3 +1)2. 3. ) (2 +3)2, ) ( -1)2, ) (4 +3b)2. 4. a) (2a+b)2,
) (2 , ) ( +1)2. 5. ) 2+10 +25, ) 2-10 +25, ) 9 2-42 b+49b2. 6. ) 4900, ) 2500. 7. a) , )

, 8. a) a2-6a+9=(a-3)2>0, ) 2-10 +25=( -5)2 0. 9. ) ( -7)2-1, ) ( +4)2-1, ) ( -4)2-17. 10. ) ( + )
( + + ), ) (a b 7)(a-b+7), ) ( 4 )( -4+ ).

1. ) (x 5)(x2+1), ) (x+1)(x2+1), ) (y2+2)(y+4). 2. a) x(x+3)(x2+3), ) (y 1)(y4+ y2+1). 3. a) (x+2)(x+3), ) (x+2)
(x 1), ) (x 2)(x+1).

1. ) 7 2 2 , ) 2 2, ) 12 2. 2. (2 2-10 )+(3 +4). 3. ) a2+5 5, )  13a2-
5a+4. 4. ) -15a3x+18a4x-21a3x3, ) 12ax3-12ax5+24a3x3. 5.  e  -6. 7. n2=1+(n+1)(n-1). 9.

 =  = . 10. ) , ) . 11. ) , ) .
12. (n-1)+n+(n+1)=3n. 13. a) 2x-3, ) 3x+1. 14. 3x+4. 15. a) K x2-2x-1,  -2, ) K

x2+2x-1,  2.

1. a) 9a4b4, ) -7,59375a25b20, ) 16a4. 2. x 3. 3. ) -2,4x2, ) 5xy3, ) -2x, ) , ) 0,75a3. 4. a)
 2, b e 1, a b e 3, a)  2, b e 1, a 

b e 3, ) x  2, y e 2, a x y e 4, )
x  1, y e 3, a x y e 4, ) x  1, )

 1, b e 1, a b e 2. 5. a) 3a2b, ) , ) -5y2. 6. ) (8x 3)(8x+3), ) 5(x 2)

(x+2). 7. ) xy, ) 2yz. 8. . 9. 4xy. 10.
15. 11. y2-2y-1. 12. a) (2x-1)2, ) y(y+2x)2.

.16.2. . 86

.16.3. . 88

.16.4. . 89

 - - . 89

 -  - . 90

1. = . 2. = = =120 . 3. . k( ,r), a  C  
, . .  B C .  C  

BC , , . 4. . = , a   
. = = = + = + = + ,

= = , . 5. ) 60 , ) 45  ) 30 , ) 20 . 6. ) . 7. .
k( ,r). ) ,

, )  , r, 

.1. . 92

.   IV



203

1. ) , )  , ) . 2. =90 . 3.  0   180 . 4. ) 45 , ) 40 , ) 150 , ) 72 .
5. + = 180 , + =180 , +2 =180 : =60 ,

=120 . 6. . k  (
), k . 7. (cm).

8. .  2. . = = =60 . 9. .
,

 30  ;
r. 11. . .

2. . , .
. 3. . q,

 ( ) . 4. r . 5. .
k( ,r). 1 2 e k

, , . 6. .
, : ) , ) p. 7. .

. q. 8. .
k . 9. = 1=180 -45 =

135 .

1. B= B =45 . 2. .
BC BC

BC. ,
. . 3. .

B  ( . 15). , = + =

, . 4. .    ( .

16) = - =
, . 5. . k k
( . 3), 1

k. TT1, 1= = 1 2=
. 6. BC+ C=180 .

1. . 2. a) He , ), ) . 3. =95 , =65 . 4. .  BC  
( C ) . + =180  ( ) + =180  ( ).

= . , . 5. .  , , 1 1

. 6. . .  B   C  
. 7. = .

, ) , ) 135 =3 45 . 8. .
 B  ( ) ( . 3) = . 9. .

 B , a    . 
. = .

.2. . 95

.3. . 98

.4. . 99

.5. . 101

. 2

. 3
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1. He . 2. ) 5, ) 54, ) 170, ) 1175 . 4. a) 1, ) 2, ) 47 . 5. ) , 14 
, ) 10- , 35 , ) 18- , 135 , ) 28- , 350 .

6. : ) 2, ) 3, ) 5, ) 13 . 7. ) 540 , ) 720 , ) 1080 , ) 1800 . 8. 116 . 9. ) , )
, ) , ) 10- , ) 12- .

1. a) He , ) . 2. a) He , ) . 3. ) 108 , ) 135 , ) 150 , ) 160 . 4. : ) 8- ,
) 12- , ) 15- , ) 20- . 5. ) 72 , ) 60 , ) 40 . 6. .

,  ( ?)  ( ?). 7. .
,

. ,
. 8. He . , ,

.

1. . : ) 6, ) 4, ) 8, ) 16 . 4. .
: ) 6, ) 12 , . 7.

. Co : ) 5, ) 10 . 8. .
=135 .

1. a) 13cm, ) 11,4cm, ) 17cm. 2. a) 11,3cm, ) 10cm, ) 5,6cm, ) 8,5cm. 3. a) 157cm, ) 67,6cm, ) 41 m.
4. =16 22,6cm. 5. = 23,4+13,9+15,5=52,8cm. 6. =b(3+ 3 )cm. 7. 150 m. 8. a), )

, ), ) . 9. : ), ) , ), ) .

1. a) 11,4cm, ) l0,5cm. 2. 5cm. 3. 6  8,5cm. 4. l0,06cm. 5. a= 2,lcm. 6. 4,24cm. 7. 24cm. 8.
6,5cm, =13cm. 9. =36 cm, r=6cm, =12cm. 10. 12cm. 11. =5cm, =9,2cm, =13cm.

1. . . . 2. ) 120 , ) 90 , )
72 , ) 60 . 3. )( 128 ) ,(51 ) ,( 51 ) , ) 135 , 45 , 45 , ) 140 , 40 , 40 . 4. ) 8- , ) 12- ,
) 10- . 5. , ) 18- , ), ), ) , ) . 6. .
C   ,

. 7. =36 , =72 , =36 . 9. He ,
. 10. . , . 11. .

.  120 . 

.7. . 106

.8. . 107

.10. . 113

.11. . 115

.12. . 120

.9. . 110

1. . 2. =10cm. 3. .  BC  , =
, , 2( )= , = . = ( )= . 4. .

d=2r .
5. , ,

. 6. .
. 7. .

BC
 ( ).

.6. . 103
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3. . , ( )  ( )
 2b (  2b). 4. .

, a cm  1cm. 6.
. a+b

b.

3. a) 1000 , ) 100000m2, ) 0,1 m2. 4. ), ) , ) . 5. ,
, , .

. 6. .

1. a) 62,4cm2, ) 25cm2. 2. a=4cm. 3. 10cm. 4. . a  b a b
: a>b b. . 12cm2. 5. =30cm. 6. 4cm. 7. a) 3  2, ) 4  8, ) 5  11, ) 7, 9  10. 

8. . 9. .
= . 10. =12  17 m2.

1. a) 108cm2, ) 3,6 m2, ) 21,5m2. 2. =8cm. 3. : )  3 , )  2 ,
)  3 . 5. 14,4cm. 6. 4,5cm. 8.

BC. 10. : ) 2  9, ) 3, 5, 7  8, ) 10  6. 11. ) 10, ) 19,5. 
12. 120m, 837m2. 13. a) 60cm2, ) 26,8cm2.

1. a) 99cm2, ) 2,55 m2. 2. 6cm. 3. 7cm. 4. 455 . 5. 6,8cm. 6. Ce . 7. .
 ja . . =24 m2. 8. .  ( . 82). 9.

.  ( . 83). 10. ) , )
, a . 11. .

: )  82, )  83.

1. 36cm2. 2. 15,12cm2. 3. 24cm. 4. 31,205cm2. 5. 28,88cm2. 6. :
: 7. .

, a = =10,5 m. 8. d2 17,8 m, =452,12 m2. 9. 1125cm2.

1. 29400m2. 2. a) 28cm2, ) 27cm2. 3. 292,5cm2. 4. =27,7cm, =9,24cm2. 5. =2cm, r= cm, =6 cm2.

1. a) 102cm2, ) 48 m2, ) 0,48cm2. 2. a) 3cm2, ) m2. 3. a) 40m, ) 8,2 m2. 5. :
)  2 , )  6 . 6. = =12cm. 7.

: a) 1cm  7cm, ) 2cm  6cm, ) 3 m  5 m, ) 4 m  4 m. . 8.
. 10. : )  36m2  56,25 , )  80cm2,

125 .

.13. . 123

.14. . 125

.16. . 129

.17. . 132

.18. . 134

.19. . 136

.20. . 138

.15. . 127
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1. a) 0,37m, ) 0,55m, ) 1,03m. 2. 2,55 m. 3. 1 14,97 m, 2 10,68 m. 4. 16 . 5. 57 17 45 . 6.
.  40  

. . =6 9=54( m). 7. =12,5cm. 8. r=2,5cm. 9. =144 . 10. a) 111,12 m, ) 1,852 m, ) 309m.

.22. . 144

1. a) 38,5cm2, ) 36 (cm2), ) 3,14 m2, ) 32,15m2. 2. a) 9  ( m2), ) 121 (cm2), ) 490,87m2, ) 0,442m2.
3. a) 2 m2, ) 19,6cm2.4. : ) 4 , ) 9 , ) 16 . 6. ) r= =

(cm). 7. = - . . 63,3 m2. 8. 10cm. 9. a) , ) , ) .

1. . C = B . = .2. .
. 3. . k( ,r). .

, .
 60 . , =60 , B . . 4. .

 BC  ( C  ) . =  ( )
+ =180  ( ). =90 =90 .  BC  ,

, . 5. : ) , ) . 6. .
. 8. .  135 =3 45

. =67 36 . 9.

1. a) 2,36cm2, ) 8,04 m2. 2. a) 17cm2, ) 32cm2. 3. 0,22 m. 4. 150 . 5. a) , ) , ) , ) , ) , ) 1
3 ,

e) , ) , ) . 6. a) 180 , ) 240 , ) 270 , ) 200 . 7. 10,35cm, 2,45cm2. 8.
28,3cm, 21,2 m2. 9. 22cm, l0,5cm2. 10. 27,56cm2. 11. a) 35,33cm, =93,42cm2. 12. 14cm2.

.23. . 145

-  - . 151

.24. . 148

1. a) 28,27 m, ) 6,28 m, ) 20,11 m. 2. a) 22 m, ) 39 m, ) 2,51m. 3. d 3cm, r 1,5 m. 4. 6366 m.
5. ) 107500 m, ) 1800 m, ) 30 m. 6. ) 8,8 m, ) 211 m. 7. r=16 m. 8. .

 ( )
1 . . 240 . 9.

.
 1 , . .75 . 10.

16,17m. 11. ) r, ) , ) .

6.  2344 . 7. .  4. 
8. .  C  
( . 89). . 5,4 m2. 9.

.
= r r= . 10. .
= r. . r 0,9cm. He .

.21. . 141
. 4
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1. 60 . 2.  3 . 3. .
. 4. . k( ,3 m).

k, . 5. ) , ) , ) 19- , ) 42- .
6. . 8. . 9. . =2r. 11. .

. . 10,5cm2. 12. a) 25,1cm, 50,27cm2, ) 31,4 m, 78,54m2,
) 6,28m, 3,14m2.

5,1m. 10. : )  3 , )  2 , )  4 . 11. 36 m. 12. =15
26( m2). 13. 20 m. 14. =28 m2. 15. 32 m2. 16. =28,46 3,3 m. 17. 7,25 m.

18. 8165m. 19. )  3 , )  5 . 20. 6m. 21. 16 m. 22. 27,5 m. 23.
: ) 2 , ) 3 . 24. l8,8cm, l8cm2. 25. 164,5cm2.

 -  - . 152

1. B={(a,1),(a,2),(a,b),(a,c),(b,1),(b,2),(b,b),(b,c),(c,1),(c,2),(c,b ,(c,c)}, B = {(1,a),(l,b),(1,c),(2,a),(2,b),(2
,c), (b,a),(b,b),(b,c),(c,a),(c,b),(c,c)}. . 3. 2= {(2,2),(2
,5),(2,7),(2,9),(5,2),(5,5), , ( 9 , 9 ) }. 4. ) {3,6,9} {4,6}, ) { ,2} { , ,3}. 5. 30,32,34,50,52,54.

2. : ) , ) , ) , )  . 4. (4,5;5,5), (-3,5), (-6;2,5), (l,3), (0,4), (-5;0,5), (-2,5;0), (4,0),
K(7,0), (2,5;-3), (5,-4), (0,-4), (-6,-2), (-2,-l), (-2,-3), T(-2,-4). 5. (-l, ), B(1, ), (2,0), (1,
), (-1, ), (-2,0). 6. a) Bo , , ,  , ) Bo , , ,  . 7.  B   

,   . 8. (3,-3), (3,3), (-3,3). 9.
(3,0). 10.

(0,-2). 11. ) , =6, )
=2,5 =6,5.

1. a) a 2, ) b 2, b 3 b 4, ) b 4 d 4, ) , , ) . . 3. ) =
{(12,3),(15,6),(24,6),(72,9),(45,9)}, ) ={(12,2),(15,5),(24,4),(72,2),(45,5)}, ) ={(12,1),(15,1),(24,2),(72,7),
(45,4)}. 4. ={(a,2),(b,2),(b,3),(b,4),(d,2),(d,4)}, ={( ,1),( ,2),(b,2),( ,4),(d,4),( ,5)}. 5. ) ={(2,3),(2,4),(2,
6),(2,8),(2,9),(3,4),(3,6),(3,8),(3,9),(4,6),(4,8),(4,9),(6,8),(6,9),(8,9)}, ) ={(9,8),(9,6),(9,4),(9,3),(9,2),(8,6),(8,4
),(8,3),(8,2),(6,4),(6,3),(6,2),(4,3),(4,2),(3,2)}, ) ={(2,4),(2,6),(2,8),(3,6),(3,9),(4,8)}.

1. : „ “. 2.   
. 3. . 4. .
 ={( ,1),( ,2),( ,1),( ,2)}. : {(a,1),(b,2)}, {(a,2),(b,1)}, {(a,1),(b,1)},

{(a,2),(b,2)}. 5.  e . 6. : ) , ) , ) . 7. .
 : . 8. ,  :K . 9. ,   o

.

.1. . 155

.2. . 158

.3. . 161

.4. . 164

.   V



208

1. ), ), ) . 2. 3:5=6:10; 3:6=5:10; 10:5=6:3; 10:6=5:3; 6:10=3:5; 6:3=10:5, 5:10=3:6  5:3=10:6. 
3. . (15,3)=15. . 8:4=10:5. 4. ), ) ,
), ) . 5.

. 6. ), ), ), ) , ) . 7. . 8.
: ) , )

. 9 . ) = =3, ) = , ) , ) . 10.
:120=9:500. .  2,16  . 11.  6 . 12. 2:6=6:18.

4. ) 4:6=6:9, ) 4:8=8:16.

1. ) =8, =8, =7,5, ) =8, =9, =9. 2. =l2, =9, =9. 3.  27, 
 10,  18. =150, =88, =72.

1. ) 7,5 ) 6, ) 1,6. 2. ) 5, ) 6, ) 25, ) 3 . 3. ) 4, ) 4, ) 2, ) , ) 0,6. 4. 9,5 .

1. ) :b: :d=8:5:3:2, ) :y:z: =2:5:6:10. 2. : ) = = =20

=40 , =60 , =80 , ) =45 , =60 , =75 . 3. . Kop c =37. . x=111, 
y=74, z=185. 4. =40 , =100 , =80 , =140 . 5. . : 1: 2: 3: 4
: 5=600:800:400:120:120 1+ 2+ 3+ 4+ 5=2480. . 1=1200, x2=1600, x3= 800, 4= 5=240. 6. ) =180, y=360,

z=540, ) . = = =1080. . =540, y=360,

z=180.

.7. . 173

.10. . 178

.12. . 182

.11. . 180

.8. . 175

1. . 2. . 3. . . 4. a) 100:1, ) 1:100, ) 1:10. 5. )
60:1, ) 1:24, ) 60:1. 6. ) 750:200, ) 8:30, ) 48:15, ) 5:5. 7. ) 8:3, ) 7:20, ) 50:2, ) ( 40):( 40)=24:25.
8. ) 0,8, ) 0,625, ) 2. 9. 100:80  80:100. 10. 750:800; = =93 =93,75 . 11. 

 18:6, 9:3  3:1,  20:5  10:2 .

.6. . 171

1. 108 , 140 ,  12- . . 2. 716mm H , 525,7mm H . 
 1000m,  5000m. . 3.

 ={-1,0,1,2,3,4,5,6}, ={-1,0,1,2,3,4}. 4. (0)=2, (2)=2, (6)=0, ) =-1, =3 =6, ) (-
1,3)  (6,8], ) [-2,-1)  (3,6). 5. ,   
( )={-6,-4,0, 6,14,24}. 6. (-2)=-7, 7= (12), . . =-2 y=-7, =7 =12. 7. : ,
( )=3 , { 1,0,2,3,5}, :C  co (x)= , {-5,-3,0,2,3,5 . 8.  : y=3 , : = .

.5. . 168
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1. ), ) . 3. k=(-2)(-12)=24. 4. . 5.
), ), ) . 6. He .

1.  59,64 . 2. . ,
:120=210:15. . 1680 . 3. 26 . 4. 3200 . 5. 828 . 6.  4,5 . 7.

24 . 8. 114,3  . 9.  150 .

1. ) 1( ,-b), ) 2(- ,b), ) 3(- ,-b). 2. )  = {(1,2),(1,4),(1,5),(3,2),(3,4),(3,5),(4,2),(4,4),(4,5)}, )
= {(2,1),(2,3),(2,4),(4,1),(4,3),(4,4),(5,1),(5,3),(5,4)}, ) 2={(1,1),(1,3),(1,4),(3,1),(3,3),(3,4),(4,1),(4,3),(4,4),}
, ) B2= {(2,2),(2,4),(2,5),(4,2),(4,4),(4,5),(5,2),(5,4),(5,5)}. 3. ) =3 - , )
y=-2 - , ) y =x     , ) y=-   

 . 5. a) -1=2 +3 =-4, ) =3,5. 6. r(9)=4, r(10)=0, r(11)=1. 7. 1(-2,3), 1(-5,1), 1(-
8,6). 8. 1(2,5). 9. , .  [-7;5 . 10. ) =20, ) =
, ) =3, ) = . 11. ) 1:6, ) 1:7,5; ) 1:125, ) 1:12,5; ) 1:24. 12. d(A,B)=200000cm=2 m. 13. ) ,

) . 14.  (24-16)=8 . 15. ) 5n+1, ) 5n+2, ) 5n+3, ) 5n+4. 16.
13 +31b=(13+31)x =  (  1 ). 17. ) ,

k, ) , ) . 18.

1. 3  7 . 2. 21 . 3.  1 . 4.  18 . 5. 120 . 6.  6 .

1. ) (1)=8, (2)=4, (4)=2, ) = . 2. ) 0, ) >0. 3. )    , )     . 4. (1)=
, ( 2)= , ( )=2.

=150, =86, =72, )
148,6; 85,4;   72,3. 4. ) =3a, ) =4a, ) =2 r.

1. k=4. 2. =0,5 . 3. =4a .
4. =2 r k=2 . 5. = r2 . 6. =12
( m) = (m). 7. ,  k  = . 8. , .

1. 52,5 . 2. 208 . 3. 1920 . 4. 9,5  co . 5. 7,75 m. 6.  5 . 7. a.

2. ) =2, ) =-6. 3. >0, ) 0. 4. ) (2)= , (4)=1, (6)= = , ) , ) =8. 5. )
, ) . 6. =4,5 , ) y=60,75 (cm2), ) =2 ( m). 7. ) y  2 

.
.14.1. . 189

.15. . 194

-  - . 195

.14.2. . 191

.14.3. . 193

.13.1. . 183

.13.2. . 185

.13.3. . 187
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1. : ) - , ) - . 3. ) 1(3, -7), ) 2(-3,7), ) 3(-3, -7). 4. (-1, 0) 
(0,2). 5. , 6, 4, 7. 6. ) 1000:1, ) 100:1, ) 1:100. 7. ) 4:3, ) 4:5. 8.

. 9. ) 5:3=15:9, ) 15:12=5:4, ) =6:8. 10. =3 . 12.

= = =10,8cm.

 -  - . 196

+2 =36 =12. .  12  24. 19. 3,4,5. 20. , +3
, +3,

 4. 21. a) r 1770 m. 22.  324 =5  24 
. 23.  350  . 24. 45 .
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